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1420 | SFREEWifte A A i 5 35 B 3 110kv  [LOkVHHPE 2817655 HF 2 10KV il 75 HT 2 550 0 0 0 AN
1421 |[SFREEmptm A E | ak XA 35kv | 10kVvikJb4k63059FF K 10kVik Ak 2k 710 0 0 0 Al




1422 |SPREEwigte A E | SiRAR s 35kV | 10kV3E 462150 7F % 10kV3E P 4k 275 0 0 0 AN
1423 |[SPEEmt AR | R EASHYY 35kV 10kVAE [T 7,28 600 0 0 0 AN
1424 | SPREEW LA A [ AR B 3 110kV 10kV=EIA 2R 05 ¢ 10kVEIA 2R 350 0 0 0 AN
1425 |[“PEmftmA ] Bl A E vy 110kV 10kV it 7 2609 ¢ 10KVt B 42 400 0 0 0 AN
1426 |[SFREEmAtE AR JEPEAS EE 35kV | 10kVF[ H £:608627F K 10kV ] F 28 600 0 0 0 Al
1427 |[SPEEH LA iy 35 75 B 110kV  [LOKVILIA] HH 4 17656 7F 4 10KVIRLIA] 28 550 0 0 0 Al
1428 |SPREEWft AR | B 4AR Y 35kV 10kVE H 2601271 K 10kVZE H £ 335 0 0 0 AN
1429 | PRt AR | =RAR g 35kV | 10kV31EZk62142TF K 10kV32db 4k 380 0 0 0 AN
1430 | PRt N Al WA 110kV | 10KVZLJE 7R 2k 04T 5K 10KVZL it AR 28 515 0 0 0 AN
1431 | FREEmtE AT | KEEEAR B 35kV | 10kVZL iR 25018 o6 10kVZL i 28 550 0 0 0 AN
1432 |[“PEWftmAE]|  JEFASEY 35kV  [1OkVJE R £.48605237F 4  10kVJEFE 4.2 550 0 0 0 AN
1433 | PRt e A A 145 B 3l 35kV | 10kVfE AR £k60754HF K 10kV i 42k 335 0 0 0 AN
1434 |PREERidtd AR | KHASH 35kV 10kV K H 2601471 % 10kV_K H 2% 400 0 0 0 AN
1435 |“PREEmftm AR | A ERASHY 110kV  [IOKVEE(T 22817563 F 9  10kV/E(T 2.2k 550 0 0 0 AN
1436 | “PREEMftm AR pikAS H vy 35kV | 10kVH{H 2861951 K¢ 10kV R 48 550 0 0 0 AN
1437 | FRE e A A FH A5 Ha 3k 35kV | 10kVALIKZE62455FF % 10kVA LI 2R 275 0 0 0 an
1438 |SPREwifte A E | AR 110kV  LOKVAFHVIZE 17549774  10kVE R 248 550 0 0 0 AN
1439 |[“PEmftmAE] A Eyy 35kV 10kV z5 AR 2801571 K 10kV s A 248 445 0 0 0 AN
1440 [FREmAt AR | fJkAS HE 35kV | 10kVAR 2862045 % 10KV PE £ 550 0 0 0 AN
1441 [PEmft AR | sk&SASHuL 110kV 10KV 5 75 2505 FF % 10kV 17 P £ 400 0 0 0 AN
1442 |[SPEERft A E | dk R EAR 35kV | 10kV5K PHZE63060F % 10kVik PE 2 550 0 0 0 AN
1443 |SPREEwgte A E | FAAS 110kV IFi] & H 406 71 K 10KV [F] 5 FH 28 550 0 0 0 AN
1444 |PREmte AR | FBIESHE 110kV | 10KV/[FE)#E g £k07 T 5% 10KV [F] 1 5 28 400 0 0 0 AN
1445  |SPREwifte A E | E oA 35kV 10kVE R 260177 5% 10kV5 42 550 0 0 0 AN
1446 | SPREMftEAE | S3RAR YL 35kV | 10kVAK K 26214371 K 10KV AR A £ 275 0 0 0 AN
1447 | SFREmAtm AR O AS H 110kv  [lokvir[Jb H 2823848 FF ]  10kVir[ b B 2 600 0 0 0 AN
1448 | PRemiftep N Al VAR g 110kV  [LOKVEE A 2817544715 10KV 4 550 0 0 0 AN
1449 |[“FEMftEAR] A dEy 35kV 10kV 7 b £k016F % 10kVz b2k 445 0 0 0 AN
1450  |“PREEmftm A ]| sk&ASH vy 110kv 10kV 5 B 2k06 K¢ 10kV iy B 28 400 0 0 0 AN
1451 | Ppeiftep N al|l i RAs s 35kV | 10kVEFRIZE62656 K 10kVE L 2% 335 0 0 0 AN
1452 | SEREEmte w75 N R AR Ha vk 35kV [ 10kVHTM ZRZk011TF K 10KV AR 2k 550 0 0 0 AN
1453 |SPREmigte A E | shpa A e 110kV 10kVIE Bk 2 12 FF ¢ 10kVigg Bk 2% 500 0 0 0 AN
1454 |SPREwgte A E | mER AR s 35kv  kVER 22661755 F 4 10kVIHRG 22k 550 0 0 0 AN
1455  |[SPREEmft AT | sk&ASHuL 110kV  [LOkVS: FHH 2823408 7F 9  10kV+s [ I 2 550 0 0 0 Al




1456 |[SEREEmft AT | sk&ASH UL 110kV KV H £.2823410F- 47 10kVEr I 428 550 0 0 0 AN
1457  |SPETGAtE AR FHEAHEY 110kV 10kVAIL 1 £k 550 0 0 0 AN
1458 |ZEpaTiftE AT | KEEAS L 110kV 10k VI it £ 218 FF ¢ 10KV it 2% 600 0 0 10292.63 %
1459  [3Epumifte ATl | M6 AR 110kV | 10kVAEF K28 25347FF 5% 10k VR 2% 600 0 0 8819.52 %
1460  [SEpuTIEte AT | B RS EAR vk 110kV | 10kVE F££825156FF 5% 10kVE F£ 2% 600 0 0 8891.47 %
1461 |SEPETH At AT | TSk AR Bk 35kV 10kVAF F VIO13FF 5% 10kVyA] 4k 2% 600 0 0 8813.19 o
1462 |EpteE AT | KA L 110kV | 10kVJE 5 2819177 5% 10kV % 5T 2% 600 0 0 8994.98 %
1463 |SEFETE At AR | e AS 110kV | 10kVH) " £:253667F K 10kVHg) ™ 2k 600 0 0 8895.32 o3
1464  [SEPEMI AL AT 0% AR H 35kV  KVILf FHEZR214TF ¢ () 10KV Ey A FH 2 600 0 0 8844.16 o
1465 | SEVPH T it A &) B A 110kV 10kVEEHT 28225 5% 10kVEEHT 2§ 600 0 0 8846.76 ok
1466 | SETH T it A &) 75 BFAR Bk 110kV | 10kVEFEE 26213 7F % 10kV Fe B A 28 500 0 0 7325.63 o
1467  [SEPETHfLH /A ] TR A 110kV 10kViEi A 28213 FF 5% 10kV A 28 500 0 0 7416.25 o
1468 |EpuTHAtE AT | TS mEAR 110kV  [LOKVZ#E FE£R15959TF K 10kVAZk& FE £k 600 0 0 8837.18 oy
1469  |sgpimiftr A | 75 LA k(e | 110kv 10kV 75 Hr 28 600 0 0 10197.98 7%
1470 |SEVHTI At A E] | MR LA g 110kV 10kVIL 3 2,28 600 0 0 8729.28 o
1471 |3EpT At AT | MEfE LA 110kV 10KV 28 600 0 0 8729.28 %
1472 |3EPTAtE A /K ASH 110kV 10kV e 4 25 600 0 0 8729.28 %
1473 [SEF AL H A B2 76 A B, 3 110kV | 10kV[i 425272 5% 10k V5 Jak 2k 600 0 0 8791.83 7%
1474 |SEpuTiEte AT | o 0 AR H vk 35kV 10KV Jj i £k2127F % 10kV /5 4 48 800 0 0 11694.51 7
1475 |3EpET At AT AR 110kV 10kV g% 2% 600 0 0 8729.28 2
1476 |SEPETHT At A E] | ISk 5 AR ik 35kV 10kV A FH VIIO17 5% 10kV LM e 28 600 0 0 9153.01 o
1477 |[Epmgt A E|  DE AR f vl 35kV  PKVIL2R215FF 5% G 10kV I /-2 600 0 0 8652.56 %
1478 | SEFETH L H A A 5 76 A5 B 3 110kV | 10kVJ5 154k 25259 5% 10kV Ji5 B4 2% 600 0 0 9218.63 %
1479 |Epamifte A KEAHYL 110kV | 10kV/K£E 11 28228 FF 5% 10kV/K£E 11 £ 600 0 0 10202.77 2k
1480  |SEp it A E| /K AS L 110kV 10KV R A4 H 2% 600 0 0 10197.98 %t
1481 | SEPHTT it A\ 7] B 110kV  [1OkVEFEE TMk28221 59  10kVE§EE Tk 2k 600 0 0 8736.55 o
1482  [sEpuimifte A a| R HL 110kV | 10kViX £ 1 282237 5% 10kVit 4% 1 26 500 0 0 7344.95 2
1483 | SEVPH T it HE A &) Rz 76 25 B 35 110kV  [1OkVIE ) 2825262 9 10kvib 2% 600 0 0 8885.07 ok
1484  |SEpFETI LA A I PG A5 B 3k 110kV 1Ok ¥ 11 % 25 25242 FF 5 10kV I [ 2% 600 0 0 10138.05 %
1485  |SEPETHALE AR AAARASHYL 35kV 10kV A ph 28 600 0 0 8729.28 o3
1486 |3EpuTH At A= | ATk EAR vk 35kV 10k V] 2% 600 0 0 9013.78 2
1487  |SEpaT At AT | /KA H 110kV 10KV Ak 2,28 600 0 0 10197.98 %
1488  [ZEpuTiftE AT | SImAR Bk 110kV | 10kVEEIRITIZE 222 FF ¢ 10kVEE IR ITT 2 400 0 0 5841.71 %
1489  |SEVHT At AT | IR IBAS g 35kV | 10kVJLEK T 2621276 10kV/LEE T 28 300 0 0 4440.68 o




1490  [SEpETHftH /A ] AR A B Y 35kv  kVAMEZE700517F % CH 10kV AP A28 600 0 0 9224.35 o
1491 | SEPHT it A &) B 7 A% H 3 110kV  [LOKVZZ 111 %28 25240FF 10kVZ 111 5 28 600 0 0 10398.38 o
1492 |3Epmifgte AT A H 110kV | 10kVE & 1T 28226 FF % 10kViR % 11 2% 500 0 0 7942.33 %
1493 |SEpET A A 5 7 A5 B 110kV | 10kVRTI54k252697F 5% 10kVHY £ 2% 600 0 0 9084.5 %
1494 [ SEPE T L H A\ 7] g B AR vk 110kV 10KV R 1145 225TF % 10KV Eg M2 600 0 0 9023.34 7%
1495 | SEVPH T it A &) % 11145 B ok 110kV 10kV# H 401471 % 10kVZ B 2§ 800 0 0 11990.5 %
1496 |SEVHTI At A E] | ZERUEAS g 35kV 10kV 2= B 28 600 0 0 8729.28 o
1497 |3EpT At AT | S mEAS vy 110kV 10kVE %< & 600 0 0 8838.03 o3
1498 |[Epum At AT | SEIRAS B 110kV 10kVERIL 25223 FF 5% 10kV LRI 2 600 0 0 8981.11 2k
1499  [SEFE T H A IKEEAS Lk 110kV 10kV #2821 77 5% 10k Vi #S 2 600 0 0 9100.15 o
1500 |SEpEigteE AT | KEAHE 110kV 10k VI 7R 2% 600 0 0 9406.16 %
1501 [SEpumifte A al| TSR AR vk 110kV IOV IE 42815961 7F ]  10kVAEIE 4R 2k 600 0 0 8985.16 7
1502 |[Epm At AT | FhAAS B 35kV  VERFRIL£700427F % () 10KVERFJLZE 600 0 0 10613.26 oy
1503 |SEPaTIft A A E] | AR IRAR g 35kV 10KVt ] 28224 FF 5% 10KV it 7] 28 480 0 0 7173.45 o
1504 | SETH T it e A &) b4 45 B vk 110kV | 10kVA= 452815766 K 10kV 4= 2= 2% 500 0 0 7476.65 o
1505  |3EpET At AT 2 AR d 110kv 10kV 23 2% 600 0 0 8729.28 %
1506  |SEPETEAtE A | ARIEIBAR g 35kV 10kVZ:- 7R % 600 0 0 8982.97 2
1507  |SEpET gt AT | IV AR H 35kV 10kVHhZE 2% 600 0 0 8762.2 %
1508 [SEpa Tt H /A ] oK A5 Ly 110kV 10KV 510 FH 4% 600 0 0 8729.28 o
1509 | SEPHT it A\ &) H A2 A5 Ha 3 35kV 10kV H i3 28 600 0 0 8887.41 %k
1510  |SEPeiftd AN E] | K EAS G 35kV  VREFRE T Z6222FF¢ (G 10kVEZE 11 4% 600 0 0 9075.89 o
1511  [SEFE T H A B2 75 A5 B, 3 110kV | 10kV[i 425244 H 5% 10KV - 2§ 600 0 0 8865 7%
1512 |[Epimft AT | F RS B 110kV  [LOkVII L S 57 28215 0F 9 10kVia] B S 58 4% 500 0 0 7336.08 %
1513 |SEpaT At AT | U mEAS e vk 110kV  [LOKVEEE £k 15971 10KVEE % FE 2 600 0 0 8927.54 4
1514 |SEPEHI At AN E] | 05 mEAS g 110kV  [1OkV4E 18 75 2815960 59 10kV44 TH 75 28 600 0 0 8748.56 o
1515 |SEpaT e A E | EBASd 110kV | 10kVEEIR VIZE215FF ¢ 10kV I VI 2K 600 0 0 8876.33 o3
1516 [SEpimifte A el  HEe A8 vk 110kV | 10kVHE B 2625343 % 10KV Rt 28 600 0 0 9003.51 %
1517  |3Epamipgte e B A s 110kV | 10kVA R IR 2R 217 ¢ 10KV R IR LR 500 0 0 7512.24 %
1518 | SETH T it s A &) N2 AT 35kV  kVANZ T k011710 10kVHh3Z 1 2k 600 0 0 8847.62 o
1519  |SEpET At A | ZERUEAS ) 35kV 10kVZ= IR £ 214 5% 10kVZE 15 £ 600 0 0 8923.46 %
1520  [SEpaTHfH /A ] oK A5 Ly 110kV | 10kVIZEH££191757F % 10kV e BH 28 600 0 0 9033.31 s
1521 [EpuTgte AT | o B AR H 35kV 10kVER MR 2R 600 0 0 10319.58 %
1522 [SEF T H A ] T 7K A B b 110kV  [LOKV K 62819155 99 10KV K 3 5 28 600 0 0 10214.58 7%
1523 |[SEPE B\ 7] Bt | A5 B v 35kV  PkVEE A 2k222FF % CGir 10kV B = 28 600 0 0 9111.15 7%




1524 |3EpETAtE AT | MEfE LA 110kV | 10kVAEFHF £k 25345 5% 10KV 28 600 0 0 9656.7 %
1525  [SEpaThftH /A ] oK A5 Ly 110kV  [LOKVAfE 111 % £k 19153 FF 5 10KV Ll 26 28 600 0 0 9959.38 4
1526 [3Epuifte AT | WKAS v 110kV | 10kV ¥ & 219178 5% 10kV ¥ JA 2% 600 0 0 9028.42 %
1527  |SEF T H A B b A5 B 3 35kV 10k VR =26 600 0 0 8729.28 7%
1528 |SEpETEAtE AR db4eAR 110kV | 10kV4=3k 215763 FF % 10kV4= 3 2% 500 0 0 7285.13 %
1529 | SEPH T it s A &) b4 A5 B vk 110kV | 10kV4=iM 2815767 H 5% 10kV 4] 28 500 0 0 7605.12 %
1530 [SEpamigte AT | BepuAr Bl 110kV  [LOkV FAKFE 282526077 10kV P AR B 2k 600 0 0 9320.45 %
1531 [SEpimifte e B EAS vy 35kV 10kVZE HL 2822171 % 10kV ZE HL 2 400 0 0 6194.19 7
1532 |SEpETE At A | YO mEAS 110kV | 10kVHI Hi£k15972FF 5% 10kV FF Hiif 2% 600 0 0 8957.98 %
1533 |SEPHI At A E] | R AR g 35kV 10kVHE 28222 FF 5% 10kVHE 28 800 0 0 11676.03 ok
1534  [SEF T H A T 7K A5 B 110kV  [LOKVE K 62819152 99 10kV E JK I 28 600 0 0 9322.03 7%
1535 | SEPHT it e A ) B 6 A% B 3 110kV  [LOKVYEE A % £k 25258 FF 10KV % 28 600 0 0 9522.94 o
1536 |SEPHTM ALt AT | 05 mEAS G 110kV | 10kViE JL£15970FF % 10kVyE fL.2% 600 0 0 8895.68 %
1537  [SEpami gt AT | 0 A 35kV 10kV A S5 28213 FF K 10kV A 5 26 400 0 0 5959.89 7%
1538 [3Epumifte ATl | H RS AR Bl 110kV  [IOkVFR K FE£R251437F K] 10kVIR 5K HE LR 600 0 0 9044.18 %
1539  |SEpETatE AR db4eAR 110kV | 10kV4: £k 157641 5% 10kV 4= Hif £& 600 0 0 8813.19 %
1540 | SEPH T it A &) o 76 25 B 35 110kV | 10kV[i¥b#:25245FF 5% 10kV [ b 28 600 0 0 9056.54 %
1541 |SEpaTftE AR FVZASH UL 35kV  [kVHMEZ T 26012720 G 10kVFN 52 1T 2% 600 0 0 8943.24 %
1542 [SEPETH L H /A ] 224 110kV 10kVZ b 28023 FF % 10kVZ b2k 800 0 0 11749.61 o
1543 |EpTHAtE AT | TS AR 110kvV  [LOkVIK K FE£R15973TF K  10kVIK 5 FE 4k 600 0 0 9543.13 5
1544 | SEVPH T it A &) 75 BFAR B vk 110kV 10kV Fe 1] 28216 7 5% 10kV B 7] 28 600 0 0 8931.94 o
1545  [3EpTitE AT | FE AR 110kV 10kVFg #2226 FF 5% 10kV g HE 2% 600 0 0 8848.03 %
1546 |SEFETHAtE A | D AR 35kV KV 228221075 CGH 10kV 5 A 2.4 600 0 0 8971.76 %
1547 | SEPH T it A &) 75 BFAR B vk 110kV | 10kVEg B FH 28211 5% 10kV e 5 FA 28 600 0 0 8820.24 %
1548 | SEVPH T it A &) b 7K 4B Bk 110kV  [LOkV ] £ 19164 5 10kV 2 0] 28 600 0 0 9818.8 o
1549  |SEpET At AR | KA H L 110kV  [1okV— R 1t £k 19156 FF 5 10kvV—rdb 2k 600 0 0 8963.46 %
1550 | SEPE LB\ 7] Zali A B vy 35kv ki KHiZR2167F % G 10KV K Hh 2 600 0 0 8863.49 o
1551  [SEPHTHfEHL A H] KA B ik 110kV  [LOKVFF P % £k 19154 5 10kV5F e 15 28 600 0 0 9458.54 7%
1552 | SETH T it s A &) 2 76 25 B 35 110kV | 10kVFE A 4525246 5% 10kVEE AN 2K 600 0 0 8783.84 o
1553 |3EpET At AT /KA 110kV 10KV 5 % £ 191571 59 10kVEg 5T % £ 600 0 0 9043.2 %
1554 | SEPE T H A\ 7] R4 AR H vk 110kV 10KV T 2k 600 0 0 10125.52 o
1555  |SEFE T H A ] FNACAS B3 35kV 10KV AR 7R 26 600 0 0 8729.28 7%
1556 |sEpimifte AT AR B 110kV 10kVIR ik 28214 FF 5% 10kVIEJE 2% 500 0 0 7703.37 %
1557  |Epuigte N El | A RS H 35kV 10kVEL 128223 FF 5% 10kVES 17 2% 800 0 0 11883.27 %




1558 [SEpuTifte ATl B KSEAR vk 110kV | 10kVA4& %4k 25141HF 5% 10kV 4% 17 & 400 0 0 6130.03 %
1559  |SEpamiftE A F] | e AR g 110kV  [LOKV/% 2 372825342 10kV % 2 328 600 0 0 8777.47 o
1560  [SEPE T H A TR A% 110kV 10k VS 28 500 0 0 7571.36 e
1561  |SEPETAtE AT | FHERARH UL 110kV 10kV g Pk k223 FF 5% 10kV g 2k 500 0 0 7280.28 %
1562  [SEP T H A\ 7] FIVZ AR H vk 35kV  |KVERK EZE0207F % CHj 10KV 2L 5K JFE 2k 600 0 0 8729.28 7%
1563  [SEFE T H A IKEEAS Bk 110kV 10KV JiE 22224 5% 10kV¥A 2 28 600 0 0 10115.67 o
1564  |sEpamift A ]| A dEYy 110kV 10kVZEHE£5015FF 5% 10kVZEHT £5 800 0 0 12800.76 %
1565 | SEP LB\ 7] H A AS B i 35kv [HEA T 2822277 % (| 10kv H FEA M TT 28 600 0 0 8864.3 7%
1566 [SEpTifti AT | AR IRIRAR vk 35kV 10kV A=A 25213 FF 5% 10KV e £ 300 0 0 4465.64 2k
1567 |3Epamifgte AT b4 A d 110kV | 10kV = £HZ 15756 5% 10KV = FBH 26 400 0 0 6181.91 43
1568 |3EpuTifte AT | KA L 110kv 10kVEE FR LR 600 0 0 9283.1 %
1569  [SEPE T H A\ 7] 5 PG A5 B 3 110kV 10k VR B4 2k 600 0 0 8729.28 7%
1570 | SEPE L H A\ 7] e B A B 3 35kV 10kV P 1528222 FF % 10kVRE Y2k 600 0 0 8886.83 o
1571 |SEpaT At AT | /KA H 110kV  [1OkVH 5% 25191705  10kV[A] &2k 600 0 0 9858.22 %t
1572 |SEpaT gt AR | ARSI 35kv  [kvAEK 287004355 (G 10kV{HE 7K 2% 600 0 0 10255.22 %k
1573 [SEpumifte AT | KA HE 110kV | 10kVZH1£6191797F % 10kV e 8 48 600 0 0 9054.28 7
1574 [SEPEmALER AT | Y0 mEAS 110kV 10KV k2L 600 0 0 9311.41 7%
1575 |EpigteE AT | BpuAr Bl 110kV | 10kVFi 5E 2625247 K 10kV P 5% 48 600 0 0 9388.34 %
1576  |EpimAt AT | SEIRAS B 110kV 10kVHE £5 211 5% 10kVEE 15 £ 600 0 0 8896.59 %
1577 |3EpuTHAtE AT | MEfE LA 110kV | 10kVAfFZ£525361FF % 10kVHF 2= 25 600 0 0 9132.36 4
1578  |[SEF T H A #H] N2 A Bk 35kV  PkVAMEZE019FF % Cir 10KVAM 2L 600 0 0 8773.55 7%
1579 [SEpuTftE AT | SIAR B 110kV | 10kVEEIRIV £212FF ¢ 10KV EE IR IV £ 600 0 0 9668.28 %
1580  |SEPG T LB\ 7] Bt | A5 B v 35kV 10kV pe 28214 FF 5% 10k V5 B 2k 600 0 0 9055.74 7%
1581  |SEPHi it AN || B EAS g 110kV | 10kVE 425153 FF % 10kV & Z2 28 600 0 0 9188.83 %
1582  |3Epumifte AT  KEAS L 110kV | 10kV/KEEIV £ 216 % 10kV/K HE IV £k 600 0 0 8856.76 %
1583  |3EpuTmi At AT | KEAF 110kV | 10kV7E FE 3G 2R226 9755 | 10KV I8 i H b 28 600 0 0 8760.92 o3
1584 |SEpETEAtE AR db4eAR 110kV | 10kV4: 1tk 15765FF 5% 10kv4= L2k 600 0 0 8742.01 2
1585 | SEVHT it H A &) Bz B B 3 35kV  pkVBEZEZE215FF % CBr 10k Vi ZE 2k 600 0 0 8869.5 ok
1586  |SEpaifgte A E|  db4AF 110kV 10kv 4= B 2% 600 0 0 8876.4 %
1587  |3EpHT At AT | SHAR g 110kV | 10kVERIE V £k2147F 5% 10kVEE IR, V £ 600 0 0 9016.82 7
1588  |SEVHTI At AT | ZSBUEAS H g 35kV  kVZEA T 2822372 G 10kVZE 4 1T 28 600 0 0 8960.09 %
1589  [SEFE Tt H A H] T A L 110kV | 10kVES R N £8221HF % 10KV G AR A 28 500 0 0 7320.22 7%
1590  [SEF T H A ] 125 L 110kV  [OkVZ LA Z8019FF ] 10kVEZE 1L Ak 2k 800 0 0 11790.04 7%
1591 |SEpuTAtE AT | MEfE LA 110kV 10KV 1 5 B 28 600 0 0 8729.28 %t




1592 | SEFETH At H A A 5% P AR B 3k 110kV 10kV 5t 22 2% 600 0 0 8729.28 %
1593 [SEpaTHftH /A ] B b A% He 3l 35kv  pkvREdbZ2137F % Chp 10kV B b2k 600 0 0 8961.89 4
1594  |SEpaT gt AT | PR AR H Y 35kV 10KV 5 2% 300 0 0 4419.87 %
1595 |SEPET it A ] J AR B b 110kV  |OkV)E IR AL 1T 2824079 10kV 5 Ak 1T 28 600 0 0 9228.12 o
1596  [SEpHTHftH /A ] oK A5 Ly 110kV | 10kV e A2819162FF % 10kV Jp 11> 28 600 0 0 8979.88 o
1597  |SEpaTH At AT | MEE LA 110kV 10KVHF AT £k 600 0 0 10357.81 o
1598  |sgpamifte A E | AR (IEE | 110kv 10kV 75 1] 2% 600 0 0 10197.98 %
1599 | SEPHTT it A\ ) B BN 110kV | 10kVRE§ & 2. 28212 FF % 10kV R & 2,28 500 0 0 7507.67 o
1600 |SEPET At AT | ZSRUEAS g 35kv  kVZEA T 282137F% (] 10kVZE4 [ 28 600 0 0 9022.82 %
1601 |Epamifte AT | AT E L 110kV 10kVIE 25225 FF 5% 10kV I FF 2% 500 0 0 7401.09 7
1602 |SEFE At AT /KA H 110kV 10kV % Tt 2% 600 0 0 8729.28 %
1603 |SEpimigte AT | F A 110kV | 10kVEg AR H 2621171 K 10kV e R FH 2k 500 0 0 7566.53 %
1604 |SEPE T H A 7] 5 B AR b 110kV 10kV g Hr £k 222 FF % 10KV F 2k 600 0 0 8900.96 o
1605 [SEpamiftiNE| AR AASH 35kv VAR T 2k215HF % (| 10kVFEZ T £k 600 0 0 8834.06 7%
1606 [SEFEm L AT | HAE A 110kV | 10kVE 7K 425151 H 5% 10kV & 5K 2§ 600 0 0 8843.77 7%
1607 | SEPHT it A\ &) B BH A5 35kV | 10kV S AR 28221107 % 4% 10kV & A< 2k 600 0 0 8799.66 o
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1798 BN it A ®| KZEAS Huk 110kV  |OkV7E #x£k2928 T 4 1 10k FR 28 400 0 0 5954.1 7
1799 BN gErm A E | ARAFH NS 35kV 10kVE 5 £522179F % 10kV E 5 £; 553 0 0 7901.34 %
1800 | B M T it i A ) 40 A5 By 110kV | 10kVZKJEZ2522FF 5% 10kV 7K JZE 2§ 403 0 0 5954.1 o
1801 N i AN R AT 110kV 10kV/) 52k 600 0 0 8729.28 %
1802 | e v A e /A ] /> VA L 110kV % 1641646271 % 10kv/> b 2,28 600 0 0 9620.39 7%
1803 | it AT | ZR AR v 110kV  JOkVZR B 416757 F 41 10kVZz B2k 403 0 0 5930.35 o
1804 [ M L HL A ] A A5 E 35kV 1523 10KVIR R 2 400 0 0 5451.61 7%
1805 N it AT E2Ar iyl 110kV 10kV B 52 28 600 0 0 8729.28 7
1806 |JENTHBEE AR KA H b 110kV  [LOkV/ " JE £:40046 K i 23 10kV/ " £& 553 0 0 8305.18 7
1807 [Nt AT | AT B 110kv  VAFH X VIZ16760F %] 10kVZE 1R 2% 403 0 0 6465.12 7
1808  |FeiN Tt AR ]  J5 FARH Y 35kV  |OkVAA% 281212 F FJF ) 10KV AH == 2§ 553 0 0 8125.5 4
1809 | e v A Ha /A ] Jb AR ek 110kV | 10kVit 12861857 K 10kvb T2k 400 0 0 6024.7 7%
1810 | PN Th pHEHL A A it YT A% H 3 110kV | 10kVF M 252376 W g 2% 10KV 7 g £ 400 0 0 6002.93 %k
1811 BNt AT | B2 As By 110kV  [LOKVET 5 £ 1606817 i 23 10KV ¥4 2% 400 0 0 6281.44 7
1812 [Nt N E] | A s 110kV | 10kVH BZ11177F % 10kVHT B2 500 0 0 7796.7 %
1813 [N fEE A w] | 37 BR AR ik 35kV 10kVFd = 281616 % 10kV R == 2§ 403 0 0 6482.32 7%
1814 e M Tk HL /A ] Ji2 3 AR Ha 3 35kV  [LokvH 2825/ N FE T 10kV 15 28 400 0 0 5910.45 o
1815 [ M oL ] D VA F 110kV /DI 2,28 16459 FF % 10kV/ D 2,28 600 0 0 10197.98 4
1816 |l AR | FHEAT d b 110kV  kvibin 2616645 F %1 10kVy Dy 28 403 0 0 5108.7 %
1817 | BN AR | FIALAS Byl 110kV | 10kvH:7E2k2518FF % 10kV 5 31 2% 400 0 0 6805.2 %
1818 [Nt AT | WA AR B 110kV 10kV 5 57 2% 600 0 0 10197.98 7
1819 |FepN it A | BRpiAS Bk 110kV | 10kVHLFS 261616571 % 10kVALAT 25 400 0 0 5476.11 oy
1820 | M i ik e A ) 7 VR AR v 110kV | 10kVZ i1 2816359 K 10kV Z i) 2§ 553 0 0 9118.46 o
1821 |t Nl HIAAS 35kV 77 1IE£52817F ZEJF 2% 10kV 5 IE £ 553 0 0 9462.54 7
1822 [ M i HL A ] 2k W AR B 110kV | 10kVIEZK 142071 K% 10KV 5K 2% 403 0 0 5997.74 4
1823 | eoN gt AR JuRAR L 35kV 10KV [ 5 25327 FF 5% 10kV [if] 1 25 600 0 0 8729.28 %3
1824 [Nt A F | KL RR AR H vk 110kV | 10kViT f#2516281FF 5% 10kV{T {8 28 553 0 0 8192.97 7
1825  |FNTH At AT | 2 NAS B 110kV  |OkVZEMIZ 16759 F 4= 71 10kVZE ) 2% 553 0 0 8136.42 %
1826 [Nt AR | AR AR B 35kV 1517 10kVE 5 2% 400 0 0 5981.87 2
1827 N i A= ZEg[AR Ha 110kV 10kVZE 5 2% 600 0 0 10197.98 %
1828 | BNk A0 /]| FER AR Ha 110kv 10kVEE Vb £ 600 0 0 10078.28 %
1829 | B M A B2\ 7] I 4 AF v 110kV  [LOkV) HXZE 400607 % 23 10KV HRZE 610 0 0 9016.26 7%




1830  |WeNTHALE AT B ARH 110kV  OkVIVF & 2,2k 16066 W7 i 10kVIA & L2k 800 0 0 12559.25 o3
1831 |t AR J5 EASH 35kV  |OKVALE£21224F ZETF A 10kV 25 £ 400 0 0 6218.16 4
1832 BN LE AT 5K 5K AR i i 35kV 10kV /A 281 719FF % 10kV /74 28 523 0 0 7568.42 ok
1833 |N ik A A | Wl ARl 110kV | 10kV ¥ ZE£k 16551056 10kV L 2= 2 220 0 0 3333.2 o
1834 [ M Tt HL /A ] Ji% 176 A5 35 110kV | 10kVJi—££161787F % 10kV i — 2§ 553 0 0 7952.12 7%
1835 | e T A Ha /A ) L2 35kV | 10kVXI| 1701062 FF % 10kV XI5 2% 403 0 0 5489.82 4k
1836 | BN it s A | S AR 110kV | 10kV K 7k 282394 Wr it 2% 10kV K 7k 2% 400 0 0 6361.46 7
1837 |t N al| kAR vl 35kV 10kV H £k 2216 FF % 10kVH: Ji7 2% 553 0 0 7412.66 7
1838 |Fe Nt AT | B SEAS B 35kV  [10kV# F-£6815/N % JF 54 10kV# 2% 400 0 0 4666.56 %
1839 | EpN i AR | U AR g 110kV | 10kv/brR2k16461FF 5% 10kV/b 2k 485 0 0 7208.93 7
1840 | Nt AR KZEATHL 110kV  [OKV i 142921 F 45 ) 10kV i 2% 400 0 0 5719.5 %
1841  |EeNTHALE AT ZEMAF 110kV 10KV .28 600 0 0 10197.98 %
1842 BN THAEE AR | ZR A B 110kV 10kVZR 3 2% 600 0 0 8729.28 %
1843 | JRIH LA 0 E] | A0SR H sk 110kV  [LOKVAI T 26417 T ZE 1 4 10kV AT 25 600 0 0 8848.22 %
1844 |JRIH I A A] | ZRIAAR 35kV oA 282825F - IF K 10kV R 22 2% 400 0 0 5949 %
1845 | TE At A F | FEREARHL v 110kV | 10kVZ2Bi 2252071 % 10kV 2Bt 28 365 0 0 5925 o3
1846 N ik A E | R PEAT Bk 110kv | 10kv Mk £E10567F % 10kv Tk 2k 600 0 0 8729.28 2
1847 | N AR M AT 110kV 10kVZRE H 2k 600 0 0 8729.28 %
1848 BNt AT | D UEAS B 110kV /D 21646371 % 10kV/b 75 2% 553 0 0 8874.77 %
1849 [ M Hi L HL A ] 5 A H 3 110kV  PkVZ2iH1 2k 16758 F %1 10KV Z& i 28 553 0 0 9287.45 7%
1850 | Nt AR JE AR 35kV 10kVPA 5 286949 TF % 10k V% K 26 600 0 0 9766.79 %
1851 | BN i A | Ak AR g 35kV 10kVAL 3 281516 FF ¢ 10kVAT 3% 2% 400 0 0 5910.45 7
1852 | BN TH At AT EFIAS vy 35kV FF614F FIF K 10KV e ¥ 28 400 0 0 5825.34 %
1853 BN it A E| AT Byl 110kV 10kV IR 2% 600 0 0 10197.98 2k
1854 | Je ] v A L /A ) T RS E 110kV  [1OkV)" BEZE40066 7 % 43 10KV RE 2L 553 0 0 8253.9 7%
1855 | it A E] | Bz AR g 110kV  [1OkV 142k 16052 7 i 25 10kVHH R 2 550 0 0 8212.8 4
1856 | iz N T Ak Ha A 7 1 AR H vk 110kV | 10kV ¥ AHZ16552FF % 10kV Y FH 2K 600 0 0 9005.89 4
1857 N it A El| bR AR ik 110kV 10kvib=F 2k 600 0 0 8729.28 %3
1858 | M i ik e A ) W5 AR H 110kV 10kV 5 M 28 600 0 0 10197.98 o
1859 | Bs M i Ak a2\ 7] Tt VA AR B v 110kV | 10kVifgiE £k 2388 i 74 10K Ve 28 400 0 0 6870.67 7%
1860 [N it E A & | k5K He AR H sl 35kV 10KV K £:17207F % 10kV 1 K & 403 0 0 5721.17 %
1861 | Jie N ik Ha A 7] rp 7 AR B 110kV | 10kVATZHZ11277F % 10kVAT K 26 420 0 0 6010.39 %
1862 | M i ik e A ) Ji% 7 A% EEL 110kV | 10kV 872816180 K 10kV 55 0] 2§ 553 0 0 7628.82 o
1863 [ M Ak HL /A ] ZVR AR 3 110kV  [1OkVZ T. 74 £ 1634671 4 10kVz T 28 553 0 0 8158.24 o




1864 BNt AT | A HEAS B 110kV | 10kV/> T 28164487 5% 10kv/b T 2; 485 0 0 7514.46 %
1865 [Nt A E | A B 110kV  okVH £ 16649F 4T 10kVH L 553 0 0 7706.47 %
1866 | M it |] | AhAE AR sk 110kV 10KV i 2K HE 4k 235371 K 10kV S K2k 403 0 0 5842.61 %
1867 | INTifEr AN A | dn SR 110kV 10kV N G 2% 600 0 0 10197.98 %
1868 | Nt AT | AT 35kV 10kVAk T.283267F 2% 10kV1b T 2% 600 0 0 8729.28 %
1869 | JRIH ik v w] | A0SR H s 110kV  [LOKVAIYA 2426 F % 71 4 10kV I V4 25 610 0 0 9191.57 %
1870 N ik A= 5K AT Lk 110kV | 10kVi 228141871 % 10kV i Z& 2% 403 0 0 4580.59 %
1871 e M Tk H /A ] K FEA 110kV 10kV K & 28 600 0 0 8794.75 o
1872 |EeN kAR ]  JLBAR g 110kV | 10kVHVEZ24277F K 10KV V2 400 0 0 5927.18 o
1873 |t AF | Ak AR v 35kV 1516 10kVHEHLZL 400 0 0 5993.89 43
1874 |N b AT | Al 110kV  [LokV) #5£k40061 M7 % 24 10kv) 5 2% 403 0 0 6130.86 %
1875 | TE At A F] | B ARy 110kV  kVIT & FF £ 16053 1K 2% 4 10kVIIA & FH 2k 800 0 0 11970.03 o3
1876 |JINTHAEE AT | N B AR H 35kV 10KV 281622 5 10KV 3% 2% 403 0 0 6005.02 4
1877 | it A | ARy 110kV 10kV&h % 2.2k 600 0 0 8729.28 %t
1878 | PN Tt HL A ] it YT A% H 3 110kV | 10kVXUHF £k 2389 W it % 10kV XU 2% 400 0 0 5936.24 %k
1879 [ M Tt HL A ] Ji2 S AR Ha 3 35kV  [LOkVIEFEZE821/NETF 10k VI [ 28 400 0 0 4988.95 o
1880 | M i ik e A ) Ji%: 7 A% EEL 110kV | 10kVE FFZ16181FF % 10kVE Fe 28 400 0 0 5784.33 %
1881 | Je ] v A Ha /A ) LA 35kV  [OKVIL ¥ 26322 FZFEJF 4 10kV JLF 28 400 0 0 5036.23 7%
1882 |EeN it Nl | KT AR e vl 110kV | 10kVyL [ £k16276FF 5% 10k VYT [H £& 600 0 0 8751.29 %
1883 | M i ik e A ] K I A H 3 110kV | 10kVy] 281411778 10kV] 22 28 265 0 0 3732.48 %
1884 N i A g AR 110kV #% 11928164681 % 10kv/b i 2% 600 0 0 8816.57 %
1885 | fepN i A | JbAR AR Bl 110kv | 10kvik 452k 240871 % 10kVid 4% 2% 400 0 0 5864.99 %
1886 | BN miflbe N T | 2R AR Ha 35kV  |OkVHlH 262622 F 4 J1 10kV3i T 28 400 0 0 5608.71 7%
1887 | Jge ) v A Ha /A ] NS 110kV 10kvandk 7.2 600 0 0 8729.28 o
1888 | FpN it A | EEAR 35kV  |OkViFAEZE1314F G 10KV i 28 400 0 0 6404.02 %
1889 | it A E] | A ZEAR g 110kV_ |OkVEZK L2917 F 4T 10kVEFK 2 400 0 0 5948.32 4
1890  |EeiN gt AR ] JE AR 35kV  |OkViHF 421824 F FEIF A 10kViH F 2% 553 0 0 8328.28 2
1891  |fepN it A |  HE ARy 35kV | 10kV R £ £:01054 1 5% 10kV R 2 £; 400 0 0 5122.07 7
1892 | e v A HaL /A ) T 2R H 110kV  [1OkV) Fk 2k40062H7 4% 23 10kV)" FK £& 553 0 0 8133.91 7%
1893 |EeNTHALE AT ZEMAF N 110kv  VfFH X VIIZk16761F 4 10kVZE B £ 300 0 0 4455.57 %
1894 |t AT | B geAR B 110kV 10kV g HH & 553 0 0 8136.42 2
1895 |l AR J5 FAR 35kV  |OKVHTF£:1220F 41 10kVHT F-28 400 0 0 5859.17 %
1896 | HIN T AE AL 0 &) | SR PR AR H il 110kV | 10kVA# M 28201 1 K7 i 2% 10KV 57 i 28 500 0 0 7892.72 %
1897  |EBNTh it AT | APAS B 110kV  [1OKV 5k M 26429 F- % 1 4 10kV &R JH 2% 400 0 0 6471.49 %t




1898 | Nt AT | SIRASHUE 110kV | 10kVZ [#£616347F % 10kV 7 i 2k 553 0 0 8725.64 7
1899 | M T ik e A ] Ik EE A B 35kV 10kV/i T.28124FF % 10k Vi T.2& 400 0 0 5828.25 o
1900 | B v A L A ) Ji2 S A H 35kV  [10kV/KJE£:813/NEJF 10kV 7K J5 2% 400 0 0 5686.47 e
1901 [N b A A VT ER AR H bl 110kV | 10kViT i 2k16268F 5% 10k VYT B 2% 600 0 0 8920.96 %
1902 | eNTE At AR BMAS YL 110kV 10kVZ=A% HH 28 600 0 0 10197.98 o3
1903 [N it A F | A Bk 110kV 10kV 1 5 2% 600 0 0 8729.28 %
1904 | Jie N T Ak E A F U172 L 110kV 10KVl & H 28 600 0 0 8729.28 %
1905 | oMt N E] | KT RS Ha vk 110kV 10kVYT 2= 2% 482 0 0 7132.55 7
1906 [Nt AR | KA Hus 110kV  |OkVZEHRE L2960 T I 10kVZEFE 2% 600 0 0 8700.73 %
1907 |t A E | B pEAS H 110kV | 10kVHE 4261617071 % 10kVHE 4 25 400 0 0 6063.21 7
1908 | JepN Ak AN E] | ol AR 35kV  |OKVIAR H 222623 F 41 10KV R 1 28 400 0 0 5566.28 %
1909 | Jis 4] 7 it Hhs A F IR E 35kV I 5t £ 2820F- % I 5% 10KV I 5th 28 400 0 0 6200.7 %
1910 | v ik e A ) AT AR Bk 110kV  [OKV A Ik F 25 2374 W7 i ) 10KV E 3 H 28 553 0 0 8136.42 %
1911 |t A E ] JbapAs gy 110kv | 10kv3Z [E£k24267F % 10kV 5 [ £; 553 0 0 8595.43 %
1912 | BN fer A A  HERIAR il 35kV FAbELk615F 1% 10kV i e 2k 400 0 0 6780.34 %
1913 BNt ee A &l | S5 AR H vl 110kV  |OKVHLH# 262016 F F I 10kVATL i 4k 403 0 0 5954.1 7
1914 BNt A ® | R PuAS Bl 110kV | 10kVAZ £k 16166 T K 10KV I HL2& 403 0 0 5887.73 %
1915 [Nt e A & | S0 B AR H vl 110kV  |OkVAFH 12015 F- 4915 10kVIR HH HI 28 500 0 0 8183.7 %
1916 | e M Tk H A ] K FEAS Y 110kV  [OkVifg 22 282912 F - 71 10kVifg 2 26 400 0 0 6172.33 o
1917 | N mi ke A ] A% H vk 35kV 10kVIH I k717 H 5% 10kVHH 5§ 28 400 0 0 5128.21 %
1918 |l ifes AT Ju A 35KV [LOKVHG #4314 F-ZE 1 4 10KV A ¥4 22 400 0 0 5987.56 %
1919 [Nt A A | KRR AR il 110kV | 10kVYTH£k162827F % 10kVT B 2k 400 0 0 6044.3 7
1920 | eNTE At A F|  HE AR H 35kV | 10kViE 5 £;01058FF % 10kVi# 5% £ 400 0 0 5588.48 %
1921 BNt A ® | oA Bk 110kV 10kV I & 28 600 0 0 10197.98 %
1922 | BNt A E | S AR B 110kV | 10kVZA J7£:20597F % 10kV %5 J7 & 400 0 0 5323.22 %
1923 |t AT | BeARd 110kV_ [LOKVAETN 16055 W it 5 10kVAE NI 22 553 0 0 8594.7 o
1924 BNt AR | J5 EASH S 35kV  |OkV = F 21221 F 4 I 10kv=F £k 400 0 0 5884.26 %
1925 | At A E] | SR BRI 110kV  DkVif§ 7S 7, 282026 F 10KVIR ] 2.2 500 0 0 7710.86 %3
1926 | BN gEr A F | FOPAR bl 110kV  [1OkV/EE 72 28460 F 7 FF 5 10kV 22 2% 400 0 0 6037.21 %
1927 [N AT | AR B 35kV 10KV L 28123 TF 5% 10KV, F 25 400 0 0 5834.8 %
1928 | JINTHAEEB AT | N B AR H ik 35kV | 10kVHRHE2LE18253FF % 10kVHRHE L 400 0 0 5908.57 4
1929 | v AR HL A ) FRAEAS H 110kV  PkV/NFEZ:16664 T %1 10kV /)N 2% 403 0 0 5000.68 7%
1930 | M i gk L A ) B 2248 B vk 110kV  [LOkV B 472816058 7 % #3 10kV E.47 2k 600 0 0 9125.73 o
1931 [Nt AT | SIRAS 110kV | 10kVz R £k 163607F % 10kV 7= 2 2% 553 0 0 7940.39 7




1932 | BN TE At A E] | I AR 110kV | OkVE I8, £, £k 2385 i i ) 10KV 23k 2,28 553 0 0 9009.34 %
1933 | BN Tt A A oK N AR Ee 3 110kV | 10kViA 5 26141571 % 10k Vi % & 210 0 0 3060.68 2
1934 | epN gt AR R FEAR H 110kV 10KV i AS 2k 553 0 0 7986.29 %
1935 [Nt A A | VT RR AR H il 110kV  [LOKVYL 2R £, 2516279 10kVYT.%E 2. 2% 482 0 0 7037.44 %
1936 BNt AT | B RASE 35kV  lOkVITi#FZ1316F 41 10kVIR i 2% 200 0 0 2956.32 7
1937 | N Tt AR | KEARH U 110kV  |OkV¥A 422929 F ZEJF A 10kV¥A T 28 400 0 0 6087.86 2
1938 | Je ] v A L A ) VEJA] A B 35kv 10kV 11128 715HF % 10kV 126 400 0 0 5842.71 7%
1939 | BeINTH At AT =L AR 110kV 10kV = J5 £& 600 0 0 8937.33 %
1940 | g T A He /A ] ViV A L 110kV | 10KVRVES 262381 0 i 7 10KV BRI 28 400 0 0 5937.49 4
1941 | BNt AR e AR H UL 35kV 10kVi5 SR 282226 FF % 10kVi 5% 2% 403 0 0 5978.83 7
1942 | Nt AR 5 FARE 35kvV  LOkVAF A 1 1215F-4H ) 10KV 7K 2% 28 403 0 0 5954.46 %
1943 | M T At L A ) J& A 35kV 10kVIb Ak 2809 5% 10kVAb Ak 2% 350 0 0 5248.48 o
1944 [Nt A w | e AR Bk 35kV 10kV2R T.£82222F 5% 10kV 2R T. 2% 400 0 0 5898.08 2
1945 | BNHIgERm A E | FOPAR b 110kV  [1OkVIE K 8423 F £ 7 10kVif 5K 28 610 0 0 8891.32 %t
1946 | M T gk L A ) B2 22 AN L 110kV  JokVE.[iH 2.2k 16067 K7 i 4 10kV -] 7,28, 600 0 0 8907.5 o
1947 | BeNTHBEE AT AR 35kV  |OkVIK ) £:2576/NFETTA 10kV/K ) £k 487 0 0 6914.31 %
1948 | M i ik L A ) Ji%8 SE AR 35kV  [LOkVAE[iE 26820/ ZE T 2 10kV 1t [ 28 400 0 0 6414.94 %
1949 | e v AR L A ) 7 VAR 110kV  [10kVz 1.1k 2816364H 59 10kVz 1B 2k 553 0 0 8201.89 7%
1950  |EeINTH At AT | AEAR 110kV  |10kV 126657 T 5 ¥t 10kV £ 600 0 0 8818.87 %
1951 BNt AR | R PEAS B 110kV | 10kVEFF£15756 7 % 10kV/ = B 400 0 0 5806.9 %
1952 | Jie N v fk H A ] ZoVEAS L 110kV | 10kVz E 216350 5% 10kVzs B 2% 553 0 0 8529.23 %
1953 | JepN Tt AR KZEATHL 110kV  |OKVZE % 222926 F 41 10KV 3 7 28 400 0 0 5975.92 %
1954 BNt ATl | JbsBAs B 110kv | 10kvR ML 2242171 % 10kV AR b 2% 400 0 0 5919.91 %
1955 | M it A || SR ER AR Bk 110kV  |OkVAERE 2L 2021 T 47 10kV 5 28 403 0 0 6190.51 %
1956 | ol Tt E A | P AR B 35kV 10kVZE vk 25 713 FF 5% 10KV ZE 3t 2% 400 0 0 5819.52 %
1957 | BN AEE AT ERIAS 35kV 10KV B 5= 2% 600 0 0 10197.98 %
1958  |EeiN kAR ] e RAFHL Y 35kV 10kVA SR £822117F % 10kVH ™ R £& 445 0 0 6698.45 2
1959 | JBe ) T A L A ) B3 22 A 110kV 10kVE2L 7,28 600 0 0 10197.98 o
1960 | M i ik e A ) 0 25 A8 H 110kV 10kV aIIA 28 600 0 0 8729.28 o
1961  |BeNTHAtE AT AIEAR vy 110kV  kVAIZE 2418 F 471 10KV 125 H £ 400 0 0 6099.4 %
1962 | M i ik e A ) Vi VAT AR Bk 110kV  |10kVZEFK 282372 % 75 10kVZE 5 28 400 0 0 6715.98 %
1963 | e T A HaL A ) 222 A B 110kV  PkVEHIE 416074 2% 4 10kVEHIE 2,28 600 0 0 8994.8 7%
1964 | N T AL HL A A 2 A L 110kV | 10kVERS 2111471 K 10KVIA 2K 403 0 0 6142.87 %
1965 | e M i At a2\ ) & FAF vk 35kV  |OkVE2 41222 F 4715 10kVEE TC 2R 400 0 0 6336.91 7%




1966  |BeNTHAEE AT AR g 110kV 10kV U272k 600 0 0 10197.98 %
1967 | Nt AR KFEAR L 110kV | 10kV £ FH 282913 W7 i #% 10KV EORFR FH 2k 600 0 0 8882.04 2
1968 | BN it r A E | ST AR B 110kV | 10kViH & 282377 W7 ik 2% 10KV & 2% 400 0 0 5009.64 %
1969 | BNt A F | S di A vk 35kV 10kVIE ML £k 1716 FF 2% 10KV LR 403 0 0 5738.45 %
1970 | EeNTHAEE AT | AR 110kV 10k V4l H- 2% 600 0 0 8852.38 %
1971 [Nt A F | B piAS Bl 110kV | 10kVTi E 4816179755 10kV i |25 553 0 0 8238.64 2
1972 | M gk e A ) 7 VR AR v 110kV | 10kV s #£816362FF K 10kV 2= Hi 28 403 0 0 6521.5 o
1973 | BN T At H AN 7 L FRAS B 3 35kV 3262815 F ok 10KV fi i 2% 400 0 0 5774.96 %
1974 [Nt A T AR d g 110kV | 10kV Y T.£k16564 5% 10kV Y T 2% 600 0 0 8867.13 2k
1975 | e v A HL A ) Vi Y] A B 110kV | 10kVyili 262387 b itk 7 10KVt J 2k 600 0 0 9052.99 o
1976 [ M AL HL A FH] J ) A 35kV  [10kVRGIL 28622 F % HF 9 10kV g I 2% 400 0 0 6135.23 4
1977 [ M T H A ] b0 A5 110kV | 10kV{5—%£k24227F K 10kVAE —2& 400 0 0 6755.01 7%
1978 |t AR ] AR 35kV  |OkV)5 112k 1821F 4 JF ) 10kV Ji5 5 2% 553 0 0 7492.02 2
1979 | BN TR AR RIS B 35kV Pi 2613 F T K 10KV /5 J1 28 400 0 0 6247.25 %t
1980 | Je N T Ak HL A8 =] A L 110kV | 10kVH Lk 231079156 10kV £ 400 0 0 5910.45 o
1981 | N T At H 2\ 7 ZEIRAS H 35kV  |OkVAiEH T 2811F- T 10KV 7 = 28 600 0 0 8745.28 %
1982 | JeoN gt A E] | KV ER AR F sl 110kV 10k VYT o 2% 600 0 0 8890.95 2
1983 | M i ik e A ) AT AR B v 110kV | 10kV K VEZE 2380 % 7 10KV K V28 400 0 0 5910.45 o
1984 | TEAEE A F]| B AR 110kV  [10kV = [ £k 16069 7 % 24 10kV = [ £ 553 0 0 8725.64 %
1985 | JINTHAEE AN F | 3 N ER AR H ik 35kV 10kVE i 281619 ¢ 10KV B i & 400 0 0 6154.14 2
1986 | BN ifer AT | KZEASH N 110kV  |OkVE 282962 F- 4915 10kVIRFL 4,28 600 0 0 8903.87 %
1987  |BNifEr A A | FOPAR Ha 110kV  [1OkVRIEZE419F ZEIF 10KV 28 400 0 0 6669.17 %
1988 | e M Tk HL /A ] B 22 A5 B 110kV  [LOKVHT 3728160647 % 43 10KV3HT V.26 400 0 0 6510.1 o
1989 | M i ik e A ) IR RS 35kV 1R 22813 F A JF K 10kV A IGE2E 400 0 0 5882.08 %
1990 | Nt AR KZEAT L 110kV | OkVAfl 5% 252925 F 4 ) 10kV1ifl 8 2% 553 0 0 8091.61 %t
1991 | BeNTH At AT | AR 110kV  JOkVJH 2 416663 F 41 10KV 5% 2k 553 0 0 8409.21 %
1992 [ M H L H A ] FLIR AR B 35kV  [10KVAIA 28323 F % JF 10KV X 28 400 0 0 5794.63 4
1993 [Nt A E | KV RRAR il 110kV 10KV A% F 28 523 0 0 7841.62 %3
1994 BNt AT AT Bl 110kv 10KV 2% 600 0 0 8430.57 %
1995  |[BoNifte AT | SIRASHUL 110kV | 10kV=4E28163617F % 10kV 7z HE 2% 553 0 0 8725.64 %
1996 [ Hi L H A ] ZR AR B 35kV 0282819 F T K 10kV AR Lo 28 400 0 0 6865.58 s
1997 | Nt AR JuRARH g 35kV  [LOkVIL I Z311F T4 10kV /L e 28 400 0 0 5977.62 %
1998 | BIN bR 0 &) SR PR AR H bl 110kV  |OkVIE{E 262013 F 473 10kVIE{5 25 403 0 0 5990.47 %
1999 | N TE At H A F 1 AR H 110kV  [LokVAss FH X14: 1656571 4 10kV Y 2% 600 0 0 7550.3 %t




2000 | B A AN E] | KT AR B vk 110kV | 10kVyLdt£k16270FF 5% 10kViT b2k 400 0 0 6209.06 %
2001 B i E A |l | EE AR AR B 110kV | 10kVEE F 251171 % 10kV[E K £ 400 0 0 6111.5 2
2002 B AR A E] | R AR HG 110kV | 10kVP5 U6 28 2390 W it 2% 10KV G 28 400 0 0 6076.73 %
2003 | di ki A E | B2eAR Fg 110kV  JOkVAEHE H 216054 W7 % 10kVAEHIE H 28 600 0 0 9234.85 %
2004 | T fptE N E] | K ZEAS B 110kV  |OkV 5 252924 F 4 )1 ) 10kV -5 )5 2§ 445 0 0 6784.22 o3
2005 | diptE A E] | Bk 5K g A H sk 35kV 10kV [ R 281713 7F 5% 10kV [ 2% 400 0 0 5948.28 2
2006 B A ptE A E | AR FG 35kV | 10kVALIKZ:01057HF 5% 10kVHLIL 28 400 0 0 5922.04 %
2007 | e Ak e N ] 1) AR e 110kV 10kV 28 610 0 0 8965.7 o
2008 | B Ak B A ] AR HL 110kV | 10kV i 2816553 FF 5% 10kV 3] 2 600 0 0 8866.46 2k
2009 | B Ak A ] B AS 35kV | 10kVHL 7201063 FF K 10kV HL 7 2% 400 0 0 5712.23 7
2010 | Jise ] i gt H A ] LA 35kV 10kVAF FHIIZE 400 0 0 6394.93 7%
2011 | mifte N Tl | ERIAS H 35kV FR4619F Tk 10KV B I 2% 553 0 0 8157.6 %
2012 | di B A &) | KT R AR H 110kV  [LOKVYT. 2 Fi 2516266 59 10k VYT 56 H £ 482 0 0 7231.84 2
2013 [ Je o Tk Hr N Ji2 37 vk 35kV  [1OKVEGVD 2812 /N EFF I 10kV Fg VD 28 400 0 0 5546.6 o
2014 | A E] | BREAR HE 110kV | 10kV# fE 2818175 % 10kVHE ¥ 25 403 0 0 6608.79 %
2015 | B T it e 2N Jb20 A5 Ha v 110kV | 10kV=It2k24117F 5% 10kV =B £k 500 0 0 7703.59 4
2016 | Ji | i At H A ] B 22 A B 110kV  PkVE-[7E] F 2816056 7 4% 4 10KV E g FH 2§ 600 0 0 9496.73 o
2017 |t A E] | DA Hg 110kV % 184k 16464FF 5% 10kV /b = 28 435 0 0 6874.31 %
2018 | M mi e N ]| 4 A H 35kV 10kVEF) 261617 % 10kVEG )~ £& 400 0 0 6212.34 %
2019 | Bt A E] | FOSPAR H 110kV  PkVAIZ 248461 F 41 10kV 1% 2. 2% 400 0 0 5937.18 4
2020 [ TE At AT | sk AR g 35kV 10kVIAZR 261721 H 52 10kVHH K 2k 403 0 0 5753.55 %
2021 [ Je o Tk HE N TV AR v 110kV | 10kVZ £,2816368H K 10kV s £ 2% 553 0 0 7607.24 o
2022 | B T A AN L IRAS 35kV [ AR FH2R2812F FETF R 1OKVAR #r B 2k 400 0 0 6024.66 %
2023 [ JRe o Ak EE N I AR E 110kV  [1OkV)" JGZE40040H)7 % 23 10kV) Juk 610 0 0 9018.8 %
2024 |t A E | Sl A Eg 110kV | 10kV ¥ #E£k16573FF 5% 10kV Y # 2% 600 0 0 9110.7 %t
2025 | BT AN E] | KT AR B vk 110kV | 10kVYL8i2k16277FF 5% 10kVYT 82k 600 0 0 8844.94 %
2026 BT pEE A E] | 7 AR H 110kV 10kV] ™ F 2k 403 0 0 6042.48 2
2027 | HPEBIXfEE N E] | B R B 35kV | 10kVE 253517 % 10KV B %4 2% 600 0 0 3490 %3
2028 |BPEBX gt AE | EilAHE 35kV 10kVHI7A 285822 FF ¢ 10kVAINIE 2§ 445 0 0 3490 %
2029 |BEIEBXfLE AT | EEEAS B 110kV 10KV 2% 600 0 0 3490 7
2030 |HPEBXAEEAF | A g 35kV 10kV g #3 £ 78551 % 10kV A 25 600 0 0 0 AN
2031 |BPEBX gt AE | el A E G 35kV 10kViE i 266420 % 10KV i 2k 600 0 0 0 AN
2032 | B SBX At A A #0911 A% Bk 110kV | 10kV XA 2818455 K 10KV AR 26 600 0 0 6376 o
2033 [RHPEEXOtrovw]] AR AR Lk 110kV 10kVHT & 4. 28 600 0 0 0 AN




2034 |EPBXAEEAF ] LA 110kV 10KV IEAF 2,28 600 0 0 0 AN
2035 |HPSBXfEr N E] | BN SRIR AR 110kV 10KV %2 2,28 600 0 0 0 AN
2036  |HPERX e ANE | ERREAR g 110kV | 10kVidFr 2818369 F K 10KVl 5 48 600 0 0 0 AN
2037 |HPEBXfEE AT | BRES s 35kV | 10kVAE/K F 28632471 5% 10kVHEZK B 28 600 0 0 0 AN
2038 | BB X ft By /) ] 2 AR H v 110kV  [LOKVZ215E H 41995471 4 10KV 2 A5 FH 2 600 0 0 6376 o3
2039 | BB X At A A AR Bk 110kV 10KV A 2K 600 0 0 0 Al
2040 | PSR [X {t B\ ] ek HE AR B 3k 110kV 10k Vi Bk 2,28 600 0 0 0 AN
2041 |BPSBIXtE AN ]| B s B 35kV 10KVE IR 2,28 600 0 0 0 AN
2042 |HPEBX A E | EH AR By 110kv 10kVE 25 2,2 600 0 0 0 AN
2043 |BPBIXEA A E] | BRI AR FLG 110kV | 10kVH 1L £6182737F % 10kvHr il £ 600 0 0 4345 o
2044 | BB IX (it ] A U 110kv  [lokVP il 2.2818160HF 4  10kViftiili 2.2k 600 0 0 0 AN
2045 |EIEBX e AT | AR B 110kV  [LOkVHT b5 21886071 5 10kVRTIL & £k [ 11 B 600 0 0 0 AN
2046 |BPSBIX LN E] | AR A H 35kV 10KVHE P4 LRIV B 600 0 0 0 AN
2047  |BPEBXEEAE | LA G 110kV | 10kVES % 21845171 K 10KV 7 26 600 0 0 6376 %t
2048 | BT ER[X {5 4\ ] ek Ve A5 B 110kV 10k Vit I HH 28 600 0 0 0 AN
2049 |BPSBIX e AN E] | EEAS H 110kV 10kVAELR 2,28 600 0 0 0 Al
2050 |BPSBXftE AT | B IR Bk 110kV  |VE 44k 848271 K H) Fi ] 10kVE &2 600 0 0 0 AN
2051 |EPERX e AE | A 110kV | 10kV %7K 2188681 K 10kV e 7K 25 600 0 0 0 AN
2052  |BPBXftEAE]| K EAHE 110kV | 10kVEifF£69367F K 10kV e i 25 600 0 0 4345 o3
2053  |BPSBIX e a]| il A Hg 35kV  |OkVAE L TMk£k5818FF5  10kVAE Ll Tk 4k 600 0 0 3490 23
2054 | BB [X fit Hy A\ ] 225 A HL 110kV  [1OkV=: T Z,2819941H 9 10kVE T2 2% 600 0 0 6376 o
2055 |BPEBX gt AE | BlASHE 110kV  [LOkVHT X £.4:18851 7 10KV e R P 2k 600 0 0 0 AN
2056 | EPSEX At AN A | R AR H g 35KV [10kVARZK 4631671 K 10KV FK 2R 600 0 0 0 AN
2057 | HPSBIX it N E] | R e A 35kV 10kVIEZ& £k 715571 % 10kVIEZ £k 600 0 0 0 AN
2058 |HPSBX e AN E] | FEJEAS g 110kv 10kVEEZR 2R 600 0 0 0 AN
2059 | BB [X fit Hy A ] FEJEAS B 110kV 10KV 7 & 600 0 0 0 AN
2060 |HPEBXAEE AT ilAS g 110kV  OkVILANTT 221885671  10kV /L /ANTF 48 600 0 0 0 AN
2061 | EPERIX LR AT | JE R AR H 110kV 10k Vi Jak 2k 600 0 0 6376 %
2062 | EPEBIXAEEAE | B 110kV 10kV R 3 2k 600 0 0 6376 %
2063 | HPSRIX fEE N E] | Bl ek 110kV 10KV Jp 202871 % 10kV i) e 2k 600 0 0 0 Al
2064 | EPEEX At AN A | BRI AR B 110kV 10kV/EX Fiff £& 600 0 0 4345 %
2065 | B SR [X {t B\ ] 6 Ik AR B 3k 35kV 10kV R AL, IVE: 600 0 0 0 AN
2066 | BPEAIX LR AN F] | JE SR AR H 110kV | 10kViE 2525226737 5% 10kViE 23 25 600 0 0 6376 %
2067 | B SR IX ft B\ ] ] 78 A5 B 110kV | 10kVAH T 218167 K 10k VR 75 28 600 0 0 0 Al




2068 | B 5 [X it i /N ] ] 7 A5 H 110kV | 10kV i E 21816871 % 10kV i & 600 0 0 0 AN
2069 | HPSRIXfEH N E] | Ak ek 110kV | 10kV/N&2879687F % 10kV/S & 2k 445 0 0 3490 %
2070 | HPSBIX gt N E] | SeAbBg AR B 110kV 10kV SCAEZL 600 0 0 0 AN
2071 |BEPEEAX e A E | AR EG 110kV 10KV 7y 2k 600 0 0 0 AN
2072 |BPSSXHEHLVE] | AR A 110kv 10kV3HT) 2k 600 0 0 0 41
2073 |BPEBX gt AE | A 110kV 10KV B 2 600 0 0 0 Al
2074 | BJBX At A A W5 AR B 110kV | 10kViEHF H 46807671 % 10KV ¥ H 28 600 0 0 4345 o
2075 |ENEEX At AT | T IAR L 110kV 10kVA B T 28 600 0 0 6376 %
2076 |BRSEXHEH AR | HARAR S 110kV | 10kV/IiEk 2k 18946 FF K 10k VIR 2% 600 0 0 0 AN
2077 |BPSBXftE A E] | AT B g 35kV 10kVH 5 £668617F K 10kVH B 26 600 0 0 0 AN
2078 | HPESBIX fEH N E] | KT mE A H 35kV 10kVyH 1468621 K 10kViF T 28 400 0 0 0 AN
2079 |HPSBIXfEe N E] | Bl ek 110kV 10KV [ifi 7 28 600 0 0 0 Al
2080 |HPEBX AL AF | A s 110kV  [LIOkVERIHZ199757F K 10kV2ERH I 2% 600 0 0 6376 oy
2081 |BPSBXftEAE | A 110kV 10KV 2 28 600 0 0 0 AN
2082 |EPERXtEAE | AR ERAS B G 110kV | 10kVIERIZE56537F% | 10kVIEF|Z T 11 B 600 0 0 0 AN
2083 |HPSBIXfEHAE | FATAS s 35kV 10kVAE 111 2k 600 0 0 0 AN
2084 | HPEAIX e ANE] | AKE AR B g 110kV | 10kVin[ i £k62557F % 10kV{i] it 2k 600 0 0 0 AN
2085 | HPEBIXfEe A E] | WA AR 110kV | 10kVEEZK 41953371 K 10kVE K £ 550 0 0 0 AN
2086 | HPEEX At N E] | R e AR B vk 35kV 10kVER B2k 7158 TF % | 10kVER LRIV B 600 0 0 0 AN
2087 | BB X kA A E A AR HL 110kV  [LOkVA7 S1 H 41867771 A 10kV A7 5% 28 275 0 0 6376 %k
2088 | B SR [X {t B/ ] ek A B 110kV 10kVHR I £k 011 FF 5% 10KV 2K 600 0 0 0 AN
2089 |BPSRIXHEHIAE] | Wil AR S 110kV 10kV IR 75 FH 28 600 0 0 0 AN
2090 |ENEBXALEAT | 2EsiAR s 110kV  [LOKV #3502, 261996571 10KV kE 2. 4% 600 0 0 6376 7
2091 |RPSEXEE AR [ LA H 35kV 10k Vi £, 2% 600 0 0 0 41
2092 | EPEEIX LR AT | JE R AR 110kV | 10kV iR £226607F % 10kV iR 7 £k 600 0 0 6376 %
2093  |EPEX At AT | AT IAR L 110kV 10kVA7 61 FE £ 600 0 0 6376 %
2094  |HPSBIX RN E] | 2EsAs e 110kV | 10kVZ SR 2619963 % 10KV 27 5K 28 600 0 0 6376 %
2095 | EPEEX AR EAAR 35kV TR 2855197 % 10kV# B 25 600 0 0 0 AN
2096 | EPEBX AR AF | R AR 35kV 1H 25 8359 JF % 10kVAE 25 400 0 0 3490 %
2097 |HPSBIX R A E] | KSR 110kV 10kVHF R 600 0 0 4345 3
2098 |BPSBIX e ona]|  dbil A Eg 110kV 10kVibwT 2% 600 0 0 3490 4
2099 | BPSRIXOHER A E] | AR UEAR HL 110kV 10kvHE 15 2.2k 600 0 0 0 AN
2100 |BPSEXELEAE | AR HG 110kV 10k V3T 5 H 26 600 0 0 0 AN
2101  |HPSBXAEE AT AH1IA 110kV | 10kV A #2k18768TF % 10kV A 2k 600 0 0 6376 %




2102 |EPEBX At AF | R AR g 35kV 10kVil# I8 £ 6125JF 55 10kVil % 28 600 0 0 0 AN
2103 |HPSBXfEr v E] [ BRI AR 110kV 10kV/EX Ji 2k 600 0 0 0 AN
2104  |BPBX gt A | JbzeArmg 110kV  |10kVALZE 4, 25797771 % 10kVIL = 2,2k 400 0 0 3490 43
2105 | B SR [X fit 6\ ] ] 7 A5 B U 110kV | 10kVAIH 2181577 ¢ | 10kVAImZR T 11 B 600 0 0 0 AN
2106 |HPBXAEEAF | AT A 35kV | 10kVEX AR FH 26651971 % 10KV B AR HH 28 800 0 0 0 AN
2107 |BPSBX gt A E | oAb B AS B 110kV | 10kV3Z Ik FH 2856627 % 10kV3Cdb 2k 600 0 0 0 Al
2108 |BPSBX gt AE | M RASH G 110kV | 10kVAEZK 41894 1HF 5% 10kVAE K 2§ 600 0 0 0 AN
2109 |EPEBX A AF | B AR g 110kV | 10kVEHELR18377HF ¢ | 10kVEAELR T 1T EE 600 0 0 0 AN
2110 | BB X {1 A ] 7 PG A% H 3 35kV 10KV 2266765715 | 10kViEr Z2 R 1111V B 600 0 0 4345 4
2111 |BPBX A | SIS Bk 110kV 10kVX b 28 600 0 0 4345 o
2112 |[BJBX At A A £ 1AR HL 110kV | 10kVA7 4418756 5% 10kV A7 411 28 600 0 0 6376 o
2113 |HPSBIXfEdr || A 110kV 10kVJE %= 48 600 0 0 0 Al
2114 |HPSBIX fEr 7] | SR As Bk 110kV | 10kVAEZR 2847471 % 10kVAE 7R 2 600 0 0 4345 %
2115 | RIS X it A A A 35kV 1H 3 7,288367H % 10kVIE 3= 7,28 600 0 0 3490 7%
2116 | BB X At A A 1A% Bk 110kV 10kVA 1) 2,28 600 0 0 6376 o
2117  |EPBXAEE AT | FHEA 35kV [ 7 £k 7658 T 5¢ 10kV[E ZE ZRIITIV Bt 600 0 0 0 AN
2118  |HPSBIX fEe /&) | B me s Bk 35kV 10KV £k 6859 7T % 10kVHE 28 600 0 0 0 AN
2119 | BPSBX ftH /A ] B AR B 110kV  [LOkVE | 2,£:18370F 5 10kVE | 2.2 600 0 0 0 AN
2120  |EPEBX A ANF | WA g 110kV | 10kV K 524806171 K 10kV K 54k 445 0 0 0 AN
2121 | BRI X it A ] Ve S AR H b 110kV 10KV 7R 28 600 0 0 6376 o
2122 | BJ B X it A A FEJEAS B b 110kV 10kVEEZE 7,28 600 0 0 0 a1
2123 |EPEBXAEEAF | EAAS 110kV 10kVZEZ LI, IVE] 600 0 0 3490 %
2124  |EPEBX At AF | KASAR L 110kV | 10KV FK 2694971 % 10kVER K 4 600 0 0 0 AN
2125 | EPEBIX LA | WA 110kV | 10kVF3§ 2806371 % 10KV 3 2% 600 0 0 0 AN
2126 |BPSBX gt AE | W RASH 110kv  Pkv= 2 2£11168/N 10kV =2 £& 487 0 0 0 AN
2127  |ENEBXAtE AT | T IAR 110kV | 10kVA¥54:187577F % 10kV AR 52k 600 0 0 6376 %
2128  |HPSBIXfEd A F] | FE b sk 35kV 10kVF= FiT £k 400 0 0 0 Al
2129 |BPBIXfhiAE] | AemEAS Fg 110kV 10kVAER} 2K 600 0 0 0 AN
2130  |BPSBXtr /A E] | B IR g 110kV [V B £ 84857 5% [A] Bf H 10kV & HH 28 600 0 0 0 an
2131  |HPSBIX gt A E] | SoAb AR B 110kV | 10kVICHF£E56617F % 10kV LT 2% 600 0 0 0 Al
2132 |EPEBXAtAF | B AR s 110kv | 10kvii]sk£k81667T 5% 10kVi] 3k 2k 600 0 0 3490 %
2133 |HPBBX e AE | FERAS s 35kV Jb % £ 786171 % 10kvIb 7 2% 500 0 0 0 AN
2134  |BPEBX LR A E | A EAS E G 110kV 10kV {45 28 600 0 0 0 AN
2135  |HPSBIXfEd N E] | R RS 35kV  [lokvii[db 24823858 TF K  10kvi[db 2.4k 600 0 0 0 Al




2136  |HPSBIXfEd N E] | dbzeAs sk 110kV 10kV L HE 2,28 600 0 0 0 AN
2137  |BPBX e A E | A H 110kV | 10kViH 352k 22649 % 10KV 15 2 600 0 0 6376 2
2138 |BIBX At A | SIS AR Bk 110kV 10kV/EX T 28 600 0 0 4345 e
2139  |EPEEXLEAE | A EASEE 110kV | 10kV4X) 28695271 K 10kVAN] 2k 600 0 0 0 AN
2140 |BPSBIX e N a] | EEA HEE 110kV | 10kV4: [1£k6661 71 <5t 10kV 4 M2k 600 0 0 3490 o3
2141 |HPBX e A E | W HRA 110kV  [IOKVAER 241897477  10kVAE % 2.4k 600 0 0 0 AN
2142 |HPBX At AE | FAA g 35kV 10kV F L5516 71 K 10kv E 2L 600 0 0 0 AN
2143  |ENEBX At AT | AR g 35kV 10kVHE 3 25 600 0 0 3490 %
2144  |EIBX LA T | FEJEAS B 110kV 10KV 5t 2% 600 0 0 0 Al
2145 | RIS X it A A A A L 110kV 10KV A4 2.2 600 0 0 0 a1
2146  |BPBX L AE | R ASH G 110kV | 10kViH b4 22647H 5% 10kVyEH L 28 600 0 0 6376 %
2147 | SR IX it N ] ] 7 A5 H 110kv | 10kVE 72281817077 ¢ | 10kVEZEZE T 11 B 600 0 0 0 Al
2148 | EPEBX At /AN F] | BE o mEAR s 35kV | 10kVHF£E23107F % 10kV 2k 400 0 0 0 AN
2149  |BPEX gt AE | Jbili A E g 110kV 10k VIl Ok HH 2% 600 0 0 3490 %t
2150 |HPSBX e AE | dbaeAs g 110kv | 10kvE E£k79717F5% | 10kviE B2k T 1B 600 0 0 3490 %
2151  |EPBXAEE AT | LA 35kV 10KV #4545 6020 F % 10kV/ifs 745 2% 600 0 0 0 AN
2152  |HPBBX e AN E | AR g 110kv SRR LR127537 4 2% 10kVIR A 28 380 0 0 0 AN
2153  |BPEBX gt AE | A HEE 110kV 10KV 5 2. 2% 600 0 0 0 AN
2154  |BPSBIXtE ANl | BB AR B 110kV | 10kV FyHZk84617F % 10kV R A2k 500 0 0 0 AN
2155 |EPEBX At AF | B AR g 110kV 10kV'E FLZR 600 0 0 0 AN
2156 |HPSBX e ANE | Bl A s 110kv  [LOkVAF IV 1884577  10kvE kK HI 4k 600 0 0 0 AN
2157 |HPEBXfLeEAE | KRS 110kV | 10kVKf5£k69357F K N 600 0 0 4345 %
2158  |HPSBIXfEd N E] | KAE AR 110kV 10kVH A4 4 600 0 0 0 Al
2159 | BB X At A A #0911 A% Bk 110kV | 10kV4E & 2 18468 % 10kV 4 5 28 600 0 0 6376 %
2160 |EPEEXAEEAF ] AT 110kV | 10kVAUIE 42187671 % 10kV AU £ 600 0 0 6376 %
2161  |BPSBIX bl | R e A v 35kV 10KV EREZR 7157750 | 10kVEAEZRITTIV ER 600 0 0 0 AN
2162 |EPEBX At AF | JER AR g 110kv 10KV 7 25 600 0 0 6376 o
2163 |HPSBX e AE | Bl A 110kv 10kV B 75 2,28 600 0 0 0 AN
2164 |BPEBX gt AE | A 110kV | 10kVAEFHZ:21662HF 5% 10kVAERHZE 600 0 0 0 AN
2165  |HPSBIXfEe N E] | el A ek 35kV 10kViE FL 4k 64217 K% 10kViE: B 2% 600 0 0 0 Al
2166 |EPEBX At /ANF | JEEAR L 110kvV | 10kV P % £k23627F % 10kV B %< 2% 400 0 0 3490 %
2167 |HPERX e ANE] | BT mEAR v 35kV  VXUIEZRII. IVE:230119 10kVAUELZRIIT. IV EL 600 0 0 0 AN
2168 |BPSAXLEAE | BEIEAS H G 110kV | 10kV/E k21825956 | 10kv/ESLER T 1T B 600 0 0 0 AN
2169 | B[ SR X fit H A ] JE FEAR H 110kV 10kV)E 7 28 600 0 0 0 Al




2170  |HPBX At AT | EFEAS g 110kV 10kVAE 15 F 2 600 0 0 0 AN
2171 |EPEBX At AR FAAS s 35kV 10kV E#h 2k 600 7.2 53 0 AN
2172 |HPBBX e AN E | SEpiAs g 110kV  [LOKVEAIEE 2481996107 K 10kV2EifE 2. 2% 600 0 0 6376 %
2173 | BB X At A A Jb 1l A% By 110kV 10kVEE X2k 1 11 Bt 600 0 0 0 AN
2174 |HPBBX AL AT | B R AT 35kV | 10KV X 5K 285348 FF % 10KV X1 5K JE 26 600 0 0 3490 %
2175 | EPERIX fEE AN E] | A AR B 110kV | 10KViEX 5K Wik 2884597 % 10KV X 5 Wi 2k 600 0 0 0 AN
2176  |HPSBX e A E | AL AR g 110kv 10kVAELS P 2% 600 0 0 6376 %
2177 | ftd AT | b g 110kV | 10kvikiR£k79767F % 10kVikiR 2L 445 0 0 3490 7
2178  |HIBXAEE AT | FEA 35kV 75 111 257656 7T 5% 10kV G L ZRTTTIV B 600 0 0 0 AN
2179  |BPBX gt AE | WA Eg 110kV | 10kVAZiE 218260155 | 10kvAZiELk T 11 B 600 0 0 0 AN
2180 |BPEBX L AE | M RASHE 110kV | 10kVi X £ 189651 K 10k V% 5 26 600 0 0 0 AN
2181  |HPSBIXfEdAF | A sk 35kV 10kVJ5 2 4:6019FF ¢ 10kVJi5 £ £ 600 0 0 0 Al
2182 | B SBIX ft By /N ] B FEAR H v 110kV | 10kVE 111£62045FF % 10kV'E 1112k 600 0 0 0 AN
2183 | BPSRXHEE /A E] | AR EAR L 110kV 10kVAEEE 2 600 0 0 0 AN
2184 |EPBBX e AE | Bof RAS B 35kV  |10kV L 453455 % 10KV FL K 2R 600 0 0 0 AN
2185 |BPSBIXfteANa]| il A H 110kV  [LOkVAi FH V £: 1884671 4 10KV I R £, 2% 600 0 0 0 Al
2186 |HPSBX e ANE | dbaeAs g 110kv F5 £ 7989TF % 10kVHEE L T 11 B 600 0 0 0 AN
2187 |HPSBXfEe N E] | E AR AR Bk 110kV  |OkV[E 5K I& 2.468458 15 10kVIE K I& 2.4 610 0 0 0 AN
2188 |HPBXAEE AT | LA G 35kV 10kV BB £k 581671 % 10kV A1 Hr 48 550 0 0 3490 7
2189  |HPSBIXfEHAF | EAAS 110kV | 10kVE7< 21867171 K% 10kV L5 2k 600 0 0 6376 43
2190 |BPEXftEAE|  EAEHE 110kV | 10kVAEHIX 1T 1869771 K 10KV H 26 600 0 0 3490 %
2191 |BPSEBX gt AE | A HE 110kV 10k V3T E H 2% 600 0 0 0 AN
2192  |EPEBX A AT | FEHAR g 110kV | 10kVZEIE 7, 25017 % 10kVZEE 7,2 600 0 0 0 AN
2193 |HPBXfteAE | FAA g 35kV B F 455177 % 10kVid T2k 600 0 0 0 AN
2194  |BPSRX LA A0E] | IS AR L 110kv R £ 7756 % 10kVIR - £ 600 0 0 0 N
2195 |BPBXftEAE | HEDHE 35kV K 2766271 5% 10KV 7K g 2R TTTIV B 600 0 0 0 AN
2196  |EPEEX At /AF | HREAR g 110kV | 10kVZ ) £:826071 % 10kV 4L i 2% 400 0 0 0 AN
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3161 |#HEXMtm AT | FFEAHE 110kV | JIT.£812365/NF T 2% 10KV 2k 487 0 0 7760.58 o
3162 | % 5 [X B A\ ] 511145 B 3 35kV 10kViK J\ 282151 HF K 10kViK J\ 2§ 200 0 0 3056.77 ok
3163  |#HE XMt AT | DA HyE 110kV | 10kvXF1£k2356 1 3% 10kV X F1 2% 400 0 0 6455.63 7
3164 | FHE XMt ANaE]| WA B 110kV  [LOKViff £ £k 19449- W i #3 10KV 28 487 0 0 7744.14 2k
3165 | W EHXOEH A A | B A H 35kV  |OkViEZiHl £k 2360/ 4T A 10KV 2% 445 0 0 6484.4 %k
3166 | ¥ 5 X ftH A H] P 11145 Bk 110kV  kVILIF 2.2811176/N T, 10kV LT 2. 2% 487 0 0 7091.81 o
3167 | #HEXMte AT | g0 A B 110kV | 10kVit 7R B 2k0147F ¢ 10kVH: 7R 28 400 0 0 6039.39 %
3168 | 3% 5 X fit o A\ ] 51048 35kv 10kVE P £k 2154 5% 10kVE P4 28 400 0 0 5657.5 o
3169 | XAt AT | R X AR B 110kV  DkVAEAK 2282562/ NETF 10KVAEHK 2,2k 487 0 0 8119.5 %
3170 |35 X it A ] £ 7% B i 110kV | 10kV[H [X 41578 5% 10kV [ [X 2§ 600 0 0 8767.65 7%
3171 | X At AT | KAt As g 35kV 10kV 7 #1128 0616 71 5% 10kV 5 F1|2k 400 0 0 5705.8 %
3172 | XKAtE AT | KR A g 110kV 10KV — 42k 600 0 0 10205.98 2
3173 | #HY Xt AE | B H g 110kV | 10kVHE 111£8190857F % 10kVHE 111 25 515 0 0 7536.32 7
3174 | XMt AT | SE e B 110kV R £610827F 10KV T 25 550 0 0 8306.16 7
3175 | XMt AT | TFR X AR B 110kV | OkV 3 4% £k 2566 /N JTA 10KV 37 i 2% 487 0 0 8102.39 4
3176 |t AT | AFEAS 110kV | 10kV/A 52814373 FF 5% 10kV 2 5 25 400 0 0 6578.71 %
3177 | #H YKt AE | REEAHE 110kV  [10kV R N £k 14659 147 4% #4 10kV R [ & 600 0 0 8969.58 %
3178 | #HY Xt N a] | EFA H 110kV | 10kVEE K 219533 F % 10kVE K 48 550 0 0 8725.59 o3
3179 | WS XAt AE | LA 110kV  JokV=££11168/)N 4 I 10kV =2 £ 487 0 0 7871.91 2k
3180 | XAtEAE | BOASHYL 110kV  [LOkVIE £ 11372007 25 23 10kV1E {28 487 0 0 7270.76 7
3181 | EXAE AT Ty 110kV | 10kV/jiE£R23597F % 10kV J3 ik 2% 400 0 0 6143.96 7
3182 | WXL AT PHRRAS s 35kV | 10kVIEIE 1T £62659FF % 10kV G I 11 2% 550 0 0 8041.91 2
3183 | HEXMtE AT | RIS 35kV 10kVE J5 261754 % 10kVE Ji £; 460 0 0 6609.52 7
3184 |#HEX{tHATF| T ETHE 110kv | 10kVE 528155071 % 10kVE & 2% 600 0 0 9159.74 7
3185 | % 59 [X it v A\ ] R BRAS B 110kV | 10kVK#£E1653F % 10KV K H 26 400 0 0 6887.4 7%
3186 | ¥ 5 X At H /A ] 2 5 A H 3 110kV 10kVER) k44T K 10kVER) 2k 487 0 0 8170.16 7%
3187 I8 BH A3t g AR L 35kv  |10kVE /> 2, 4:41845F % 10kVE /b 7,2 550 0 0 8812.6 7%
3188 IRPHAL Rty | SCPH B AR 110kV | 10kV3CH2612867F K 10kV LR ER 550 0 0 8150.23 7%
3189 IR BH At g Eh A 110kV 10KV #h 7= FH 28 600 0 0 10197.98 o




3190 IS £ H g A 110kV  [LOkV 5 % 28131790 i 23 10KV .24 28 550 0 0 9217.64 7
3191 IR BH At RS Y 110kV  [LOkV 5L 11128131567 % 74 10kV &L 11128 550 0 0 8104.23 7%
3192 I3 A E P AR A H 35kV 10kV/ ¥ B 2% 600 0 0 8729.28 %
3193 WAL L | B IRAS Hy 110kV | 10kVA#E 2813847 5% 10kV AT £ 28 600 0 0 9955.67 o
3194 IRPA AL ey IHLE Tk e AR B | 110V [LOKVIEE 4 2811758 B 2 2 10KVt 4 28 480 0 0 7345 7
3195 I BH A H g PR 110kv  [1OkV 5 1t £k 131821K % 23 10kV i b 2% 550 0 0 8193.7 %
3196 I BH A E g F V0] AR B 110kV 10kVHL3% 25032 5% 10kVHLI% 2k 550 0 0 8329.61 7
3197 IR BH At L rp 75 755 L 110kV  [LOkV 7y %< 26 12666 W7 % 74 10KV A< 28 600 0 0 9003.08 o
3198 IRBHAL Rty | SCPH AR Ha 110kV  |OkVCHL 7,2 128697 2 4 10kVICHL 42k 550 0 0 8251.17 4
3199 I B 43t L A O FF 1l A5 B 35kV | 10kVF}/b 2k 4454k i 2% 10kV /b 2% 400 0 0 6227.98 o
3200 58 BH A3t e g 52 A 3 110kV 10k Vi 53 HH 2 600 0 0 8793.84 7%
3201 35 B 4t FL A O It 25 E 3 110kV  [LOkVHH /728116557 it 43 10kV it J7 & 600 0 0 9191.31 7
3202 IRBHAL Pty | SCPH AR Ha 110kV | 10kV3L /5 612858 F % 10kV 3L T3 28 550 0 0 8901.06 4
3203 Ik B 4 H e O w8 AR H 3 110kV 10kVFE 7y 28 600 0 0 10197.98 o
3204 39 B At L A O 52 NS B 3 110kV 10KV K 25027 2% 10KVl K 28 550 0 0 8004.57 7
3205 35 Bt FL O FH A A5 B 35 110kV  |OkVHIHF 2281306301 10kVHHF 228 550 0 0 8318.49 7
3206 I B At L A O TRV AR o 3 110kV  [LOKVFEE 2812561 1K i 23 10kVFEE 2k 480 0 0 7290.4 %
3207 Ik B 3 HE e O B AR Bk 35kV | 10kVji [d 284559 i % 2% 10k Vit bl 28 400 0 0 6360.79 o
3208 IS £ H g I BH AR He 3 110KV [LOKVH FH £ 11253 147 4% 24 10KV FH £ 480 0 0 7317.61 o3
3209 35 Bt FL O rb i AR 110kV | 10kVH{lEH 2612963 % 10kV 5 £& 550 0 0 8476.6 %
3210 I B 4t L A O 35 o A5 H 3 110kV  [LOKVH AN 2811257 K7 i 23 10KV A1 2% 480 0 0 7536.88 7
3211 I BH A3t g w9745 110kV 10KVAEIE HI 28 600 0 0 10197.98 7%
3212 IR BH At G AN 110kV | 10kVE £ 2k 218607F % 10kVE E 2 550 0 0 8276.63 o
3213 I BH A H s AR H 35kV OV [ 5 2k IVA186 T % A 10KV [ 55 26 600 0 0 8792.75 s
3214 I A E A 19 A5 B ik 110kV 10KV AE R 2k 600 0 0 10197.98 %t
3215 I BH £ H E V0] AR L3k 110kV 10kV [ 25039 F % 10kV [ 3% 2 400 0 0 5849.71 o3
3216 IS £ E g TR B 110kV_ OKVEEIE 2k 12556 W7 % 5 10KVAE YR F 28 480 0 0 7015.43 %
3217 I B At L A O FH A+ 25 He 3 110kV  [LOkVH 7= 281308217 i 23 10kV H % 2% 450 0 0 6572.6 o
3218 58 BH A3t e g A L 110kV | 10kV-EFL£E21870HF K 10kVE L2 600 0 0 9080.04 7%
3219 WP AL 0 | AR B 110kV | 10kVfiE 21384271 % 10kVHTL = £& 600 0 0 9487.85 7
3220 IR BH At b il 25 B 110kV  [LOkV i B2k 116807 % 74 10kV i g 28 600 0 0 9114.28 7%
3221 WREAAEE L | B IRAR Hg 110kV | 10kVHifr. 413862 5% 10kVATL AL 28 600 0 0 8782.02 o
3222 Ik B 4 H e 0 75 7R A5 110kV | 10kV 7y 12812664 K 10kV 7 5 28 550 0 0 8363.2 o
3223 I BH £ E g TR B 110kV  [LOKVAFE P £k 12575 W 2 2 10kVFE P 2% 550 0 0 8078.58 o3




3224 IS £ H g kAR v 35kV | 10kVH 111286659 FF 5 H 10kVH 1112 400 0 0 5829.7 o3
3225 IS £ E g B3 A5 H v 110kV | 10kVAI4EZE 13663 K 10kV A 1E 2% 550 0 0 8019.3 %
3226 Ik B 3 H e O R AR B 110kV  PkVELIE H 2813155 7 4% 4 10kV =15 FH 28 550 0 0 8275.93 o
3227 I 3E £ E A 19 A5 B ik 110kV 10KVHE R .28 600 0 0 10197.98 %
3228 35 B 4t EL O £ AR H v 110kV 10kVEL % 2. 2% 600 0 0 10568.78 7
3229 I8 BH A3t e g FCPEAS L 110kV 10KV 6 28 600 0 0 10197.98 o
3230 I BE A E A 75 A A5 B 110kV | 10kVFH 42614170 % 10kVFH 7 2% 600 0 0 8786.75 %
3231 B £ H g FH A+ 745 B 3 110kV  |okV HHRF FE 22 13052 87 2% 4 10KV HH 47 FE 28 550 0 0 8329.01 o3
3232 I BH £ E g FF 11 A5 B b 35kV | 10kVFHIT 2k 44627 i 25 10KV FHT 2% 400 0 0 6147.78 %
3233 I B 43t L A O P AR A H 35kV 7% F 283176601 1 2% 10kVFE ¥ 28 600 0 0 8758.56 o
3234 WA ARG | S P A 110kV  JokV 3 L T 2612856 W7 i 4 10KV 3L HL HH 2 500 0 0 7511 %
3235 35 B 4t FL A O rb i AR 110kV | 10kVH 3L £6129727F % 10kVH ST 2 480 0 0 7994.3 7
3236 35 B 4t B g 75 AAS 35kV 10kV [ E 257368 TF % 10kV R E 26 550 0 0 8137.14 2
3237 I £ E A 19 A5 B ik 110kV 10KVHE A 26 600 0 0 10197.98 %t
3238 I B 3 H e O S A EE 3k 110kV 10kVIi BT 2,28 600 0 0 8795.11 o
3239 IR BH At G S ELIA AR Ha i 110kV | 10kVE £ 11564 FF % 10kV T 28 550 0 0 9963.08 o
3240 Ik B 3 B e O B AR Bk 35kV RV 284182 % 10k VAR ] 28 550 0 0 8818.7 %
3241 WREAALE RCy [HLEE T AR B[ 110kv  [1OkVit K 281175278 49 10kV it K28 480 0 0 7146.55 o
3242 IRPE A R Aty | K ZE B AR He 35kV  [1OkVZEJb£k31253 K i 2 10kVZE b2k 480 0 0 6989.97 7
3243 IRPHAL Pty | R IR AR Ha 110kV  [LOkVE4R 7,2 11567FF A 10kVEHR .28 600 0 0 8961.88 4
3244 I B 4t L A O RS 110kV  [1OkV 828 131721K7 5 23 10kV 581 2% 480 0 0 7015.43 7
3245 I BE A H g F Y0y A B 3 110kV 10kVE 25017 T % 10KV 35 5 2§ 400 0 0 5918.85 7
3246 35 B 4t FL O £ AR H b 110kV 10kV & BH H 2§ 600 0 0 10545.18 7
3247 35 Bt FL O BT AR H 110kV 10kV 5 PG 2% 600 0 0 10239.98 %
3248 I B At L A O AR H 110kV  [1OkV i %28 11851 Ih it 43 10kV i 2% 600 0 0 9055.35 7
3249 35 B At FL O 75 A A 110kV  [LOkVF#EE 22814167 71 4 10kVFEAE 2,28 600 0 0 8818.85 7
3250 IRBHAL Pty | AR H 110kV | 10kV I 5 281248FF 5% 10kV | H 2§ 550 0 0 8959.04 7%
3251 Ik B 3 H e g I 9H A5 B 110kV  [LOKV 4 I 2k 11256 K7 % 25 10kV g M 28 600 0 0 9046.63 ok
3252 WAL Rt | AR 35kV | 10kVIEE 2R 1462 W7 i Y 10KV T8 26 480 0 0 7254.65 %
3253 35 B 4t FL O 75 A A5 L3 110kV | 10kVAFHX 141637F K 10kVEE 7K £ 550 0 0 8123.32 7
3254 35 B 4t FL O It 25 H 3 110kV 10KV i 2,28 600 0 0 8729.28 %
3255 I8 BH A3t g b A Bk 110kV  PkVHIHT £.2811675 W %4 10kV {1 H 2,28 480 0 0 7461.96 7%
3256 WAL L | B IRAS Hy 110kV | 10kVfii 5> 2138631 % 10kV i 5 2& 600 0 0 9051.21 %
3257 IR BH At g 7 R AR E 3l 110kV  [LOkV 7 J#] £ 11858 K7 % 7 10kV 7 J& 28 550 0 0 8295.54 o




3258 35 B At FL O 9T 175 B 3 35kV YL SRR 4245 /NEETT 10kVZL 51 2k 400 0 0 5977.91 7
3259 IR BH At B35 25 B 110kV | 10kVAl 2= 2136611 % 10kV I == 2§ 600 0 0 8895.13 4
3260 P s | K2R R AR 35kV  JOkV Kbl FH 28312550 4 4 10KV K 0 FH 2% 480 0 0 7441.47 %
3261 WAL L | R EIRAR s 110kV | 10kVE 2811552 F % 10kVE 1 4% 550 0 0 8485.04 7
3262 35 B 4t EL O 75 AAS 35kV  |OkVF L2916 T F T 10KV H 4L 400 0 0 5828.25 7
3263 I A E A 19 A5 B ik 110kV 10KV A 42420271 % 10KV FE 4 26 550 0 0 8061.49 o
3264 WEEAALE RCy [HLEE T AR B[ 110kv  [1OkViSt R 211756 7% 49 10kV i (28 600 0 0 8771.84 o
3265 IR ey | P AR AR 35KV |OKVIE#] 7,2k 14647 % ) 10kVIE R £ 2k 400 0 0 5949 o3
3266 WA G | O R AR 110kV | 10kvEphZk12447F 5% 10kV Rk 600 0 0 8699.94 o
3267 35 B 3t B O A5 H A5 110kV | 10kV7 2 2621963 % 10kV 7y = 2% 600 0 0 9565.43 7
3268 I B At L A O AR H 110kV  [LOkV i 5 2811869 i 43 10kV 1 7 2% 550 0 0 9021.42 7
3269 I BH £ H g K PEAR H v 110kV  PkVIEELE 7,25 135451 4 4 10kVIERE £ 2 550 0 0 8097.68 o3
3270 IR BH At RS Y 110kV  [LOKV ELYT 281317 1187 % 23 10kV ELYT 28 480 0 0 7194.98 7%
3271 IPH AR s | K2R R AR L 35kV  [10kVZE = 2631257187 4% 24 10kVZE 7= 2% 550 0 0 8519.42 %t
3272 IRBHAE R0y | AR H 110kV | 10kV4:F§426847F % 10KV 43 R 26 600 0 0 8871.49 o
3273 I3 B 4t B g b AR R 110kv 10kVh F 2% 600 0 0 8729.28 %
3274 58 BH A3t R e Eh AR Bk 110kV 10KV h 5 H 28 600 0 0 8729.28 %
3275 WA G | T AR 110kV | B P64k237555F 5% CHr) 10kV I it 2§ 600 0 0 9153.73 %
3276 IS £ H g FH A 25 H 3 110kV  [LOkV3ii B 7,4 1307471 4 10kV3ii #f £ 2k 550 0 0 9374.47 o3
3277 IR BH At b il 25 By 110kV  [LOkV i FH £ 1166117 % 74 10kV i e 28 600 0 0 8878.59 7%
3278 WAL ey | DR AR H 110kV | 10kvE % 2k1258 % 10kV -5 7R 26 550 0 0 8274.45 %
3279 I BE A H A VA5 3L AR B 110kV  [10kV /5 %<2k 13253 147 4% 44 10kV /3 - 26 550 0 0 8801.56 %
3280 35 B 4t FL O 5 AR B 110kV 10KVl /K £50147F 2% 10KV I 7K & 550 0 0 8056.03 %
3281 I8 BH A3t e 75 Z5 A5 HL 110kV  [LOkVTE fl] £, 2812670 10kV7E 1] 2,28 550 0 0 8404.66 o
3282 Ik B 4 H e O 75 7R A% 110kV  [LOKV 7 i £k 126687 i 4 10kV 7y in] 28 550 0 0 8382.29 o
3283 IR BH At VS LA B 110kV  [LOKV 5 k281327017 % 23 10kV Bk 28 600 0 0 9751.22 o
3284 NP AL 0 | SCBH A HL 110kV  [LOKV L H1 2812851107 i 45 10kV 3L H £ 550 0 0 9097.94 %
3285 3 B 3t B rh AR B 110kV 2812965 % 10kV 1 D% 2% 480 0 0 7090.46 7
3286 35 B 3t B O A5 kA5 110kV | 10kV7 BL2821949FF % 10kV7y B 2% 550 0 0 9108.99 %
3287 35 B 4t FL O e YA B 3 110kV 10kVIEHL L2k 600 0 0 8729.28 7
3288 IR BH At 75 PH A5 Ha 3 110kV | 10kVH & £14178TF K 10kVH % 28 600 0 0 8748.38 s
3289 WP s | AR B 110kV | 10kV/Jiir 21386471 K 10KV i 2 600 0 0 9418.91 7
3290 I8 BH A3t g AR L 35kV 10kVv/b 111284176 5% 10kV/b 111 28 480 0 0 7117.27 7%
3291 I BH £ E g K PEAR H v 110KV OkVE5E 7,25 135467 2% 4 10KV iR L2k 600 0 0 8834.47 o3




3292 IS £ H g JA] AR B 35kV | 10KViR] BH 2R 4342 W7 i 2% 10kV{r] BH £ 550 0 0 8362.55 o3
3293 39 B 4t FL A O i 24 35kV | 10KVifi¥b £k 45668 i 45 10KVt b & 480 0 0 7015.79 %
3294 WAL L | el AR vy 35kV | 10kVXUIR 2k 3263 7 i 2 10kV AL 28 400 0 0 5849.35 7
3295 Ik B 4 H e g IR X A5 35kV | 10kVHTL ] 287455 W % 2% 10k VT Jr] 2§ 400 0 0 6301.34 o
3296 35 B 4t EL O 25 kA% E 3 110kV | 10kVH /5 £621968TF % 10KV /7 2 550 0 0 8625.27 7
3297 WAL Ly | (YDA s g 110kV 10kV [ [ £:0147F % 10kV [ el £& 500 0 0 7275.31 %
3298 I BE A E A Eh AR Ha 110kV 10kV#: 75 2% 600 0 0 8729.28 %
3299 B £ H g 57 AR B 110kV 10KV 2 B 2§ 600 0 0 8729.28 7
3300 IR BH At 255025 Ly 110kV | 10kVHA K £6219647F K 10kVA K28 600 0 0 8756.74 4
3301 58 BH A3t g 75 Z5 A5 HL 110kV  [LOkV 7y fill FH £k 12653 FF 5 10kV 75 1) H 28 550 0 0 8067.77 o
3302 58 BH A3t e g G137 A5 B b 110kV | 10kVAI] " £:13642HF 5% 10kVAl)) 2k 550 0 0 8010.57 7%
3303 IRPE AL Aty | SCBH R A HL 110kV 111251287217 4 2% 10kV 311 28 550 0 0 8430.3 7
3304 PR e e | K 78 R e AR E 35kV  [1OkVZE 7K 2831256 i 2 10kVZE 7K 2% 480 0 0 8047.67 2
3305 I BH A E g 75 25745 B 110kV  [1OkV7S 52812651 1h7 i 23 10kV 7y FE 28k 550 0 0 8510.32 7
3306 WAL | R AR 110kv | 10kvEJbZE12577F K 10kV- Ik 2k 480 0 0 7481.79 %k
3307 IRPE AL Aty | B A R 110kV | 10kV&iZk267071 % 10kV 4> PR 2L 550 0 0 8355.81 7
3308 IRPHAEEE Rty | SO B AR H 110kV KV I 2812855 7 4 4 10KV T3k F 2k 550 0 0 8355.41 o
3309 Ik B 3 HE e O Eh AR Bk 110kV 10kVEL BH 2,28 600 0 0 10465.18 o
3310 B A E, s P YEAR H v 110kV 10kVH W £ 600 0 0 10284.18 %
3311 I BH £ E g B3 A5 Ha b 110kV 10KV 2 600 0 0 8729.28 2
3312 35 Bt HL O Eh AR Ha v 110kV 10kV &b i H 2§ 600 0 0 10197.98 7
3313 Ik B 4 H e O Eh AR Bk 110kV 10kVEL PH 2,28 600 0 0 10197.98 o
3314 35 B 4t FL O A L 110kV | 10kVEAf 2621853 % 10kVEAT £ 600 0 0 9426.73 7
3315 Ik B 3 H e O IR X A5 35kV  |10kVE IR L7461 0T % 4 10kV 75 Il 2% 400 0 0 6743.4 %
3316 Ik B 4 H e O FEUE AR Bk 110kV  [LOKVFE 1112812558 K7 % 43 10kVAE 11128 480 0 0 7035.43 o
3317 IR BH At B A 35kV | 10KViLBH 2k 4562 W i &% 10KVt BH 2k 480 0 0 7066.06 o
3318 IR BH At RS B Y 110kV  [LOKV ELX{ £ 13177 W7 % 7 10kV 5L XY 28 550 0 0 8257.54 7%
3319 Ik B 3 H e g R AR B 110kV  [LOkV L1 A 2813157 99 10kV =15 A 28 550 0 0 8483.32 ok
3320 Ik B 3 H e g S A EE 3k 110kV 10kV)ii B 7,28 600 0 0 10197.98 o
3321 IR BH At SN R 110kV 10kV 1§ 28047 5% 10kV [ i 28 400 0 0 6265.44 o
3322 I £ E g 75 BHAS B 110kV | 10kVH 4 £:14169FF % 10kVE 4 2% 600 0 0 8876.4 %
3323 WREAAEE L | B IRAR Hg 110kV | 10kVfiiH1 2813844 K 10kV i 2% 550 0 0 8078.77 %
3324 Ik B 4 H e 0 75 7R A5 110kV | 10kV 7y 552812669 K 10kV 7y 58 28 480 0 0 7334.67 o
3325 35 B 4t FL O ST 1275 B 3 35kV YLVPELRA243/NEETT R 10kVALPE 2L 400 0 0 5846.5 7




3326 IR BH At e TR AS B 35kV | 10KV iF 287363 W i A% 10KV 75 I3 25 400 0 0 5845.67 o
3327 IR ey | S BH AR H 110kV  [1OkV SCPH 2812873 % 23 10kV 3L BHZE 550 0 0 8461.09 %
3328 I BH A E s P AR H i 110kV 10kVPA A H 28 600 0 0 10307.58 7
3329 WA ARG | Aol A 35kV | 10kVZ 253255 K i 2 10kV 2 3 2% 400 0 0 5832.25 7
3330 35 B 4t EL O 75 A A5 L3 110kV | 10kVFFIE £E14158TF K 10KV AR IS 25 600 0 0 8574.36 7
3331 I BH A H g 25 b A B 110kV | 10kVH 7= 262194671 % 10kVAT 25 248 600 0 0 9521.02 %
3332 IRt e bty [FLEE T FEAS svk| 110k [LOKV FERH 2811765 Wi it 24 10kV Hi, FH 28 600 0 0 9379.79 7%
3333 IR BH At L rp TR AS B 35kV | 10kVT K2R 7362 W7 i 4% 10kVH K2k 600 0 0 8740.92 o
3334 SRPH A ey | e B A B 110kV 10KV LR} 12866 Wi 10kVIL R 550 0 0 8107.03 %
3335 Ik B 3 H e O w8 AR H 3 110kV 10kVAE R 2,28 600 0 0 9043.17 ok
3336 P s | K AR B AR L 35kV  [LOkVZE 52 £k31264 M7 1% 44 10kVZE 2 £ 550 0 0 9403.12 %
3337 I BH At JA] AR H 35kV | 10KV £k 4344 8 i 4 10kV{r] Jji] £& 600 0 0 8980.68 o
3338 IR BH At B AR B 35kv 10kVEH P 2107 K 10kV 70 26 515 0 0 8656.13 4
3339 I £ E A B FEAR 35kV 10kVE 1254183 % 10kVE 12k 480 0 0 8396 7
3340 58 BH A3t e g G137 A5 Bk 110kV  [LOkVAIIPE £.4:136727F 10kVAI [ 2,28 600 0 0 9306.22 7%
3341 IR BH At G R A Y 110kV  PkVELIE 7, 281317007 % 4 10KV H. 15 7,28 550 0 0 8582.67 o
3342 I3 A E A VA L 110kV 10kVIH 5. 2.2 600 0 0 10457.23 o
3343 I8 BH A3t g PA VA L 110kV 10kV1H 5 H 28 600 0 0 10498.48 7%
3344 IS £ H g M A AR H 35kV i 2831764 W7 K 2% 10kV i % 2% 550 0 0 8399.75 o3
3345 IR BH At B AN 110kV  [LOkV<EFY FH 221854 10kVE Y H 28 600 0 0 9198.43 7%
3346 WEEAALE ey [HLEE T AR B[ 110kV  [LOkVit J3 28117547 % 49 10kV it 75 28 480 0 0 7124.18 o
3347 I BE A H g FH A A5 B 110kV  [1OkVHiHE 2k 13061 7 4% 44 10k Vi HE 28 480 0 0 8266.39 7
3348 I BH £ H g 75 PH A5 L3 110kV | 10kVHIT 261416671 K 10kVAFIT.2L 600 0 0 8908.23 o3
3349 35 Bt FL O i A 35kV | 10kVijit 4 2k 4564 W7 i 25 10KVt 7= 2% 480 0 0 7110 %
3350 I8 B A E 315 o A5 H 3 110kV 10KV g 2k 11255 7 4% 24 10k VI 7 2% 480 0 0 7720.87 %t
3351 WEAAE R ey | R AR 110kV | 10kVE #££11553F % 10kV T #h 2% 550 0 0 8223.16 o3
3352 IR BH At w7 R AR E 3 110kV  [LOkV 1t F 261187117 % 7 10kV 7 H 28 600 0 0 8869.86 7%
3353 I E A E b i A5 Ha 110kV | 10kVHiFZE11681F % 10kV il % 2% 600 0 0 9658.64 %3
3354 WAt G | A IAS G 110kV | 10kVJikZE 1384671 K 10KV AR 2R 600 0 0 9198.62 %
3355 IR BH At 75 PH A5 Ha 3 110kV  [LOkVZ Il FH £k 141607 5 10kVE 1) FH 28 600 0 0 9204.33 o
3356 I £ E g T JR AR H 110kV | 10kV it £k60652FF 5% 10kV i Jb £k 600 0 0 8735.65 %
3357 I B At L A O A AR B 35kV | 10kV>% 2k 4337 BT i 2 10kV =2 JRF 28 480 0 0 7232.82 7
3358 Ik B 4 H e 0 g 175 B, 3 35kV | 10KVAY 2= 253253 W it 10KV XY == 2§ 400 0 0 6037.02 o
3359 IRBHAL bty | R 28 B A 35kV  [LOkVZ= %2 26312627 % 7 10KV Z& % 28 480 0 0 7658.15 o




3360 IR BH At e Eh A 110kV 10KV &h E 2 600 0 0 8729.28 o
3361 395 B 0 T 2 AR L 110kV | 10kvE 7 £k21859FF % 10kVE T 2k 400 0 0 5926.09 %
3362 I3 A E 75 A5 H 110kV | 10kV# [ 2614157 % 10kV# il 2% 600 0 0 8742.01 %
3363 Ik B 4 H e g FH A A% HE 110kV  PkVIHi I £.2813078 7 % 4 10KV Hi 4.2k 600 0 0 10828.27 o
3364 IR BH At AR B 35kv ARG A231 /N TT K 10kVZL 128 400 0 0 5842.8 o
3365 I B 4 H e O M4 AR EE b 35kV  [LOKV¥ifF 28317547 % 23 10KV v 5 28 480 0 0 7607.05 %
3366 WAt G | SCBHERAS HL 110kV  [LOkV L JE£8 12852187 it 43 10kV L B2k 550 0 0 8985.44 7
3367 B £ H g It il A5 H 3 110kV 10KV i 457 HE 28 600 0 0 8729.28 o3
3368 I B At L O [ Vb JA] A B 110kV 10kV (4225013 F 2% 10kV [ 2 £ 480 0 0 7807.46 %
3369 I B 43t L A O FH A+ 25 Ha 3 110kV  PkVH 12513051014 10KV HH A HH 2% 550 0 0 8858.95 o
3370 58 BH A3t e g w7 AR H 110kV  [1OkV i Fk 28 118521H7 4% 23 10kV 7 FK 28 600 0 0 8882.77 7%
3371 WAt e | T AN B 110kV | 10kVE £k 124671 % 10kV 5 e £ 600 0 0 9852.73 7
3372 IRPE AR ey | A 110kV | 10kv& 1428268271 % 10kV 4 U5 25 480 0 0 7152.19 %
3373 WAL e | AR AR E s 35kV | 10KV HH 281455 W7 i &% 10k V¥ H 28 400 0 0 5825.34 %t
3374 3B it HL rh AR B UG 110kV | 10kVH[iE 2812967 % 10kVH el £ 480 0 0 7167.97 7
3375 35 Bt FL O £ AR H b 110kv 10kVEE FE 2,28 600 0 0 8729.28 7
3376 Ik B 3 B e O Eh AR Bk 110kV 10KV EL IR H 28 600 0 0 8729.28 %
3377 I BE £ E A KA B 35kV 10kV T 75 £k 7366 7F 2% 10kV T 7 2% 400 0 0 5831.16 %
3378 IR ey | R AR H 110kV | 10kV4: b2k 2683 i % 10kv4: b2k 317 0 0 4730.72 o3
3379 I BH £ E g B AR 110kV | 10kVEREZE21855TF K 10kVE M 2% 600 0 0 8887.68 s
3380 I E A E A - JFE A5 FL 3k 110kV  [1OkV iy [l 2k 11853 147 4% 44 10KV ity e 28 480 0 0 7322.23 %
3381 I BE A H g T2 Vs A8 Ha 110kV  [LOKVFE %R 281256207 it 43 10kVFE A 28 480 0 0 7175.29 7
3382 I BH £ H g It il A5 B b 110kV kv I Hi B £ 11654187 2% 4 10KV i Hij B 2k 600 0 0 10498.17 o3
3383 Ik B 3 H e O £ 90 T A B 3 110kV 10kV [t 28048 T 5% 10kV [ it 28 400 0 0 5893.17 %
3384 Ik B 4 H e O YA A AR B 35kV | 10kV £ FH 28433417 % 2% 10k V] {428 550 0 0 8132.52 o
3385 IRPA A ey IHLE Tk e AR f v 110kV [LOKV S 2811766 2 24 10kV H - 28 550 0 0 8069.49 o
3386 IR BH At 75 7545 By 110kV  [1OkV7iy & FH 21265971 54 10KV 7y £ I 28 550 0 0 8245.73 4
3387 WAL | B AS Hy 110kV | 10kVfiiiFH£813845HF K 10kV i F+2& 600 0 0 9813.77 o
3388 58 BH A3t e g 25 BHAS B b 110kV  [LOKVE ik £.2614175H 10kVE i .28 600 0 0 9074.45 7%
3389 I BH £ H g K PEAR H v 110kV  OkViE5iE FF 25 13559 K7 2% 4 10KV o FH 2k 550 0 0 8152.06 o3
3390 I £ E g YA AR H 35kV | 10kVin] K £k 4333 T i 2 10k K 2k 550 0 0 8166.45 %
3391 I B At L A O AR AR B 35kV  [LOKV ¥ P 2831753 K i 4 10kV/ [ 75 2% 480 0 0 7191.11 7
3392 I BE A E 35 B A Ha 110kV  [LOKVHE 228112657 i 23 10kVIR 528 480 0 0 7614.67 7
3393 IRPE AL s | AR A 35kV | 10KV i 2k 1460 i 2% 10KV % 2% 400 0 0 6196.26 7




3394 IS £ H g P AR H 110kV | 10kVHfHZ12974FF 5% 10kV H BH 28 480 0 0 7258.4 o3
3395 39 B 4t FL A O b AR E 3 110kV 10kV & 5% FH 2 600 0 0 8729.28 %
3396 IR BH At B 75 BH A5 v 110kV | 10kVZI[ 2814162 FF K 10KV 0] 2§ 550 0 0 8545.24 ok
3397 I 3E £ E A 75 A A5 B3 110kV | 10kV# 4 2614156 FF % 10kVE 4 2% 600 0 0 8978.61 %
3398 I BH A E g 75 FAF L 110kV | 10kV7y4EZE12654F K 10KV 7y HE 2K 550 0 0 8484.71 o3
3399 WAt ot | AR 110kV | 10kV& % £82676 71 % 10kV & 4R 2% 550 0 0 8887.2 %
3400 I BE A E A B3R AR B 110kV  OkVEL3H 7,4 131804 4 10KV ELHE £, 2 550 0 0 8020.94 %
3401 PR Tty | R 25 B AR g 35kV  JokVHEL[E 2, 2831259 10kVEE[E 2.2k 480 0 0 7215.09 7
3402 IR BH At Eh A Y 110kV 10kVER VT H 28 600 0 0 8729.28 4
3403 Ik B 3 H e O FE AR Bk 110kV  [LOkV#% FH 21256717 % 5 10kVAEJR .28 480 0 0 7012.16 ok
3404 I B At L A O A A B 35kV  [LOkV¥ K 2831765 i 43 10kV ¥ K 2k 400 0 0 5842.62 7
3405 I BH At FH ) 25 B 3 110kV  PkVH 71 7, 2813081 1B % 4 10kVH H 7.2 550 0 0 9006.18 o
3406 IR BH At B A B Y 35kV | 10KViL Rk 24554 W i 2% 10KVt i 2k 400 0 0 6050.85 7%
3407 I £ E A It A5 B 3 110kV  [10kV il %< 2k 1166417 4% 44 10kV i 7 28 480 0 0 7249.68 %t
3408 WA ARt | S B 110kV  PKVITAR H1 4212854 W% 4 10KV 3L ok HH 26 550 0 0 8123.32 %k
3409 I B At HL s S BN B 110kV | 10kVE FHZ;11554FF 5% 10kV E H £k 550 0 0 8199.7 7
3410 Ik B 3 B e O B AT Bk 110kV | 10kVEH 2621856 5% 10kV i 28 600 0 0 9769.96 %
3411 I B At L A O 725 LA B 110kV  [LOkV /5 12813274 it 23 10kV /5 1 2% 600 0 0 8735.65 7
3412 IS £ H g FH A 25 H 3 110kV  [1OkVHt FH £ 1306017 4% 24 10KV FH 28 600 0 0 8754.92 o3
3413 IR BH At b il 25 By 110kV  [LOkVHi % 26116567 % 74 10kV i M4 28 480 0 0 7269.13 7%
3414 RPEAEEE 0y | W 110kV | 10kv4&7K£k26757F % 10kV 47K 2% 480 0 0 7146.58 7
3415 I BE A H A SRR 110kV 10kV (X £k015FF 2% 10kV 4 X £k 500 0 0 7756.14 %
3416 IR BH At G B3 25 By 110kV  [LOKVAI RN £, 41366271 4 10kVAI [ 2.2 600 0 0 8774.12 o
3417 Ik B 3 H e O IR X A5 35kV | 10kViiFH 2k 7462 W4 2% 10KV FH 28 400 0 0 5865.99 %
3418 I B At L A O 75 25745 B 3 110kV  [1OkVTG B 28126657 it 23 10kV 7 2% 600 0 0 9866.88 7
3419 I BH £ H K VEAR H 110kV  kVEAE FE 221356007 2% 4 10kVVFEAE 2R 550 0 0 8020.94 o3
3420 IR BH At AR B 35kV  |10kVZL KZk4240MH7 % 45 10kVZL K28 400 0 0 5860.67 7%
3421 WA At | A 110kv | 10kv4: 28267471 % 10kv 4> 2% 480 0 0 7647.76 %3
3422 I B At L A O 315 B A5 H 110kV  [LOkVHE T 28112667 5 23 10kVH F 2% 480 0 0 7555.15 7
3423 IRPH AL E ey | R 2 B A e 35kV  [LOkVZ= BT 26312637 % 7 10KV 228 48 550 0 0 8144.6 o3
3424 35 B 4t FL O £ A5 B 110kV 10kVER IR 7,28 600 0 0 8729.28 %
3425 I SE A E A 75 A5 H o 110kV | 10kVFHEZ14179FF % 10kVE 2L 550 0 0 8059.31 %
3426 WAL L | B IRAS Hy 110kV | 10kVfiii % 213859 % 10kV i 22 2% 600 0 0 9921.91 %
3427 I BH £ E g B3 A5 Ha vk 110kV | 10kVAIIZ136527F K 10KV A i 28 600 0 0 8820.49 %t




3428 I B At L s FH A A5 e 3 110kV  [LOkV3iifi £k 13083 i 25 10kV3iifi 4k 550 0 0 9820.18 o
3429 IS £ E g kAR v 35kvV kv Ib£k60561F T 10kVi Jb 2% 400 0 0 5835.85 %
3430 35 B At FL O RS 110kV  |OkVELZEHI 28131520180 10kvELZE HI £k 550 0 0 8655.81 7
3431 Ik B 4 H e g Eh AR Bk 110kV 10kVEL 7R 2,28 600 0 0 10197.98 o
3432 I BH A E g P UEAR H v 110kV 10kV1H 4 28 600 0 0 8729.28 o3
3433 I B 4 H e O YA A2 AR Bk 35kV | 10kVin £ 284335 % 4 10kVir] £ 28 480 0 0 7050.35 %
3434 I B At L A O b 25 He 110kV  [LOkVHH 5= 2811663 K7 5 23 10kV il = 2% 480 0 0 7025.98 7
3435 IR BH At L rp B A 35kV | 10kVifidb 24555 W i 4 10kVii b2k 400 0 0 6111.73 o
3436 IR At Rty [ FLEE T FEAS svh|  110kv  [LOKVEE K 2811772 W7 % 24 10kVH K 2k 550 0 0 8014.57 7%
3437 58 BH A3t g b A Bk 110kV  [LOkV i FH£E 11657 W % 23 10kV i FH 28 480 0 0 7886.32 o
3438 WAL Rt | AR AR 35kV | 10kV1H T 281461 W7 i 4 10kVIE T 28 400 0 0 5889.13 %
3439 I B At FL s I X A5 35kV | 10kV FH 3 2k 7452 K7 i 2 10kV HI 30 2k 400 0 0 5890.84 7
3440 35 B 4t FL O P YA B 3 110kV 10kVIEHL FH 2k 600 0 0 8729.28 %
3441 I £ E A 5 FEAR B 35kvV  |10kVE /D H Z41775F % 10kVE /b HI 2% 550 0 0 8568.6 %t
3442 I B 3 H e O B AT Bk 110kV | 10kVE X 2821857 K 10kVE X2 600 0 0 9415.12 o
3443 I B At HL s VRS 110kV  [LOKVEMELE 13570107 i 45 10KV ML 550 0 0 8985.47 7
3444 I B A E g FH A 7258 H 3 110kV  [LOKV3iii £k 13069 B i 2 10kVE 1o 2% 550 0 0 9633.47 %
3445 I B At L A O o JR A 110kV  [LOkV i fili 28 11854 it 23 10kV i fifi 2% 480 0 0 7465.85 7
3446 IR ey | R AR H 110kV | 10kv&fEZ626737F K 10kV4x 2L 480 0 0 7020.16 o3
3447 35 Bt FL O I A A5 B 3 110kV OV KLk 1125817 25 10kV kAR 25 480 0 0 7835.16 %
3448 35 Bt HL O Eh AR Ha v 110kV 10kVER % H 28 600 0 0 10480.78 7
3449 ARt | AR 35KV JOKVIE B FH £ 1454 W7 2% ) 10k VIE Y H 28 400 0 0 5829.7 %
3450 35 B 4t FL O 19745 110kV 10KV AF i F 26 600 0 0 8751.29 7
3451 I B A3t L A O AR H 110kV  [1OkV 7 Bl 28118597 % 23 10kV 7 B 25 550 0 0 8121.42 s
3452 Ik B 4 H e O G137 45 EE 3k 110kV | 10kVAIJr[ 2813643 K 10kVAI)7n] 2§ 550 0 0 8154.6 o
3453 I B At L s KRS B 110kV  |OKVIEEZT B 281355200 10KVIEEZT H 2% 600 0 0 8786.81 7
3454 I B At L O FH A A5 B 3 110kV  [1OKV3ii k£ 13055 i 25 10KV 77 £& 550 0 0 9033.41 7
3455 I B At L A O I 22 A 35kV | 10kVifti] £k 4557 W i 2 10k VL] 28 400 0 0 6091.58 o
3456 WREAALE Rty [HLE Tk R AS B k| 110kV | 10kVit~ 2611759 % 10kV LT 28 480 0 0 7709.23 o
3457 IR BH At 35k [9F A5 H 37 110kV  [LOkVR] /211267 W7 % 74 10kV R /3 28 480 0 0 8006.19 o
3458 IRBHA F bty | R AR 110kV | 10kV&#s£k2686 7T % 10kV a2k 550 0 0 9009.89 s
3459 WP 0y | R SIS E 110kV | 10kVE 32811565 % 10kV T 5 2% 550 0 0 8222.25 7
3460 I B 43t L A O rh AR B U 110kV | 10kVH 452812966 FF % 10kV 1 75 2% 600 0 0 9263.58 7
3461 IR BH At g SN R 110kV 10kV [ HLEE 600 0 0 8729.28 o




3462 IS £ H g 75 FAF L 110kV 10kV 7y i 28 600 0 0 8860.4 o3
3463 IR BH At A5 45025 Ly 110kV | 10kVAyIE2821945FF 5% 10kVAy b 28 550 0 0 8855.34 7%
3464 I BH A E s 7 JRE A5 L 110kV | 10kVh 3£k 8088 T X% 10KV il 3 2k 550 0 0 8298.71 43
3465 WAt G | R AR 110kV | 10kVEhiAE£E12597F 5% 10kV Iy 28 480 0 0 7817.8 %
3466 I BH A E g B3R AR H v 110kV  |OkV LR FH 22 13161101 2% 4 10kV 5 5 FH 2k 600 0 0 9105.49 o3
3467 IRPHAE Rty | AR AR 35kV | 10kVIE M2k 14527 % 4 10KV 7 28 480 0 0 7000.88 o
3468 35 B 3t B O [ V03] A L g 110kV 10kV (4 £ 250407 2% 10kV 4 R 2% 400 0 0 5857.17 %
3469 35 B 4t FL O KA B 35kV 10kV R TH2& 400 0 0 5829.7 7
3470 35 B 4t FL O 5 GRS B 35 110kV 10KV 2,2k 600 0 0 8729.28 %
3471 I A E A A% AR B 3 35kV | MR £R31757I0 % AR 10KV i 4 HH 28 550 0 0 8221.35 43
3472 IS £ H FH A+ 25 Ha 3 110kV  JokV3i Hij H 213073 Wr % 4 10k Vi Hif HH 26 600 0 0 10078.68 %
3473 35 B 4t FL A O It 25 E 3 110kV  [LOkVHH Ak 2R 11660107 i 45 10kV [l AR 28 480 0 0 7312.7 7
3474 35 B 4t FL O BTk AR R 110kV  |pkVELG: 22613168 #%]  10kVEL 4G 2.2k 550 0 0 8431.45 %
3475 35 B 3t B O Eh A 110kV 10kV£h F 2% 600 0 0 8729.28 %
3476 I B 3 H e O B AT Bk 110kV | 10kV-EF5 2k 2186671 % 10kVE 28 600 0 0 9378.2 o
3477 IR BH At G FCPEAS LY 110kV  [LOkV#& FH £ 1354 117 % 7 10KV A 28 317 0 0 4631.06 o
3478 WAt ot | RS 110kV | 10kv& 528268171 % 10kV 4 35 2% 550 0 0 8098.95 2
3479 Ik B 3 HE e O FRUAR B vk 110kV  [LOKVFEZ= 2812557 W7 i 44 10kVFE 23 28 480 0 0 7085.81 o
3480 I BH At g B A B Y 35kV | 10KVifLYL. 24563 T i 45 10KVt VT8 480 0 0 7356.6 o
3481 WPH B Ay | Al 1A E 35kV | 10KV A2k 3262 KT K% 2% 10kV U 2% 400 0 0 6398.63 %
3482 I B 4t L A O 315 B A5 H 110kV  [LOKVHE & 2811263 K i 23 10kVH 5 2% 480 0 0 8302.33 7
3483 ARt | AR 35kV | 10KVE R 2R 1453 Wi Ay 10KVIH L2 400 0 0 5925.6 %
3484 I B At L s S BN B 110kV | 10kVEPHZE11557F % 10kV E PH & 480 0 0 7327.06 7
3485 WAL | B EIRAS 110kV | 10kVE % £811568F % 10kV E #% 2k 480 0 0 7219.99 %
3486 I A E A 19 A5 B ik 110kV 10kVAHERH 2026 5% 10KV AF BHZE 550 0 0 8396.48 %t
3487 35 B At FL O b AR B3 110kV 10kVERIT 2,28 600 0 0 8729.28 7
3488 WAt Gt | YA B 110kv 10kV i 25035 7F 2% 10kV AT 2R 480 0 0 7087.99 oy
3489 Ik B 3 H e g FCVEAR Bk 110kV  |OkVVEZL 2. 2813565714 4 10KVYELL .2k 600 0 0 8809.98 ok
3490 58 BH A3t e g w7 JFE AR H 110kV  [LOkV 1t PH 2811863 7 % 43 10kV 77 FHZ& 480 0 0 8034.77 7%
3491 35 B 4t FL O M A AR H 35kV  [LOkVHidb£k31755 i 2 10kV # b2k 480 0 0 7021.98 7
3492 I £ E g I X 4B H 3 35kV | 10KVFAS 28 74607 i 2% 10kV A A 25 400 0 0 6747.38 2
3493 36k B 3 H e O T4 VEAR Bk 110kV 10kVIH R 4.28 600 0 0 10352.38 o
3494 35 B 3t EL O A5 kA5 H 110kV | 10kV7 55 2621944 F % 10KV 35 2% 600 0 0 8826.32 %
3495 I BH £ E g FH A 25 H 3 110kV  [LOKV3iii 5 £ 13079 B 2 2 10kVF 5 & 550 0 0 8248.94 o3




3496 IR BH At e 75 A5 By 110kV 7y JN 2k 12656 07 1% % 10KV il 28 550 0 0 8008.21 o
3497 IRBHAR F bty | R 28 B e A H 35kV  [LOKVZE FI1£831252 87 % 43 10kVZ& FIIZE 480 0 0 7654.72 o
3498 IR BH At B IR X A5 35kV  |10kVIX H2k7456 K % 7 10KV [X HH £k 400 0 0 6979.55 ok
3499 P AL Tt WL T S B ss|  110kv OV EE b 2E11767 K i 25 10kVHE L2k 550 0 0 8014.57 %
3500 IR BH At w9 A5 E 3 110kV 10kVEE = 28012 FF 5% 10kVHE = 28 550 0 0 8133.69 o
3501 I8 BH A3t e g w9 AR 110kV 10KVHEEH 2K 550 0 0 8393.38 o
3502 I BE A E A A5 AT AR B 3 110kV  [LOkVH Fg FH 2221948 5 10KV R H 26 600 0 0 8916.63 %
3503 IR BH At L rp VS LA B 110kV  [LOKV /2813257 87 4% 23 10kV Jj 2L 550 0 0 8129.69 o
3504 35 B 4t FL O A A B 3 35kV  JOkVidiA 228317610 10kViMIA 2.2k 600 0 0 8921.51 %
3505 IRPHAE Rty | B A IR AR H 110kV  [LOkVii /] £.2813869H 9 10KV /7 2.2k 600 0 0 8822.39 o
3506 IS £ H FH A+ 25 Ha 3 110kV  JokV3ii & H 213072 W7 % 4 10k Vi £ H 2% 600 0 0 8947.17 %
3507 35 B 4t FL A O JA] AR AR B 35kV | 10kViEXIL £ 4347 T it 25 10kVEX U4 2% 480 0 0 7183.53 7
3508 Ik S 4 i e o ik 148 By ok 35kV | 10kVZZ 2R 3265 W 4 2% 10kV 22 I 28 400 0 0 5835.05 o
3509 I B At L A O b i A5 Ha 110kV  [LOkV il A2k 11667 7 4% 44 10KV i A1 2% 600 0 0 10006.35 7
3510 WEAAE R 0 | R SIS AR 110kV | 10kVE 72611563 % 10kV £ 7 2% 480 0 0 7861.26 7
3511 NP AL 0 | SCBH A HL 110kV  |OkV U 2. 26128708 10KV I 2. 2% 550 0 0 8136.05 7
3512 35 Bt EL O 57 AR B 110kV | 10kV/Iii B H 4013 F % 10KV HL FH 28 550 0 0 8216.07 £
3513 I8 BH A3t g G137 A5 L 3k 110kV 10k VI 1 28 600 0 0 8729.28 7%
3514 I BH At g Eh A 110kV 10kVEL £ 7.2 600 0 0 8729.28 o
3515 IR BH At AR B 35kV  |10kVZL 52k 424101 % 74 10kVZL & 28 250 0 0 3644.47 7%
3516 I8 BH A3t g A L 110kV  [LOKVEFY £,2821867H 10kVER 7,25 600 0 0 9057.13 7%
3517 Ik B 4 H e O 75 7R A% 110kV  |okV 7y IR HH 2812657187 i 4 10kV 7y 34 H 28 550 0 0 8879.36 o
3518 IR BH At G Ik BH AR Ha 3 110kV  [LOKV3H [X 21126117 % 74 10KV [X 28 480 0 0 8368.05 o
3519 Ik B 3 H e O YA A AR Bk 35kV | 10kVir] 2k 4346 W % 4 10kViA] 28 600 0 0 9539.28 %
3520 35 B At HL O FH A+ 45 B 3 110kV  [1OkVH i 2k 13057147 4% 44 10KV i 2% 480 0 0 6996.15 7
3521 IR BH At b A5 e 110kV  [LOkV i 2% 11652 K7 % 74 10kV H il 28 480 0 0 7375.61 o
3522 NP AL 0y | ol A L 35kV | 10kVXUE 23264 W7 i 2% 10kVBUA 2% 400 0 0 5852.65 %
3523 58 BH A3t e g G137 A5 Bk 110kV  [LOkVAI;% H 41365071 4 10k VA 75 H 26 600 0 0 8993.63 o
3524 WEAAEEE L | R SIS 110kV | 10kVE F 2811558 % 10kVE F 2% 550 0 0 9195.24 7
3525 I B At HL s [ Vb JA] A B 110kV 10kVS} 11125018 TF 2% 10kVFF 111 2% 550 0 0 8109.12 7
3526 I £ E g V5 L AR Ha v 110kV kv 51b£662654 F 1 10kV /5 b2k 600 0 0 8766.89 %
3527 36k B 3 H e O 7 0 AS Bk 110kV  [LOKVZ ik H 2814159 99 10kVFH 1t FH 28 600 0 0 9364.19 o
3528 I E A E 7 R AR FL 110kV  [1OkV iy FH 2811865 7 4 44 10kV i 28 480 0 0 7319.46 %
3529 35 B 4t FL O BTk AR R 3 110kV  |OkVEL 4 H 28131548 10kvEL 4 HI 28 550 0 0 9093.65 7




3530 IS £ H g It il A5 B b 110kv  [LokVHlidb £k 116740 % 23 10kV il Jb £k 480 0 0 7411.1 7
3531 IS £ E g K VPEAR H v 110kV 10KV SR 2,2k 600 0 0 10228.78 2
3532 35 B 3t B O A5 kA5 110kV | 10kV7 2621943 FF % 10kVAy - 2% 550 0 0 8740.56 %
3533 I 3E £ E A FH A+ 25 Ha 3 110kV  [LOkV3ii B H 4: 130771 4 10k Vi # HH £ 550 0 0 8340.83 %
3534 IRPA A ey I HLE Tk e AR B | 110kV [LOKV LT 28117700 2 24 10kV HL 7 28 550 0 0 8014.57 o
3535 I B 4 H e O RS L 35kV | 10kVT5 % 287356 W i 4 10kV T A< 2k 400 0 0 5832.61 %
3536 IR AR s | K2R R AR 35kV  JokV B[ FH 4 31254 1 4 10KV ER [re] H 2§ 480 0 0 7657.02 %
3537 IR ey | P AR AR 35kV | 10KVE 1S 28 1463 W7 i &% 10KV AT 25 480 0 0 7428.78 o3
3538 I BH £ E g [ Vb JA] A B 110kV 10kVAk T.283267F 2% 10kV1b T 28 400 0 0 6702.11 %
3539 I B 43t L A O 725 LA B 110kV  [1OkV Jj HE£813276H % 23 10kV Jj 2% 600 0 0 8849.56 o
3540 Ik B 4 H e O FH A A% H 110kV  PkVIH £ £,2813065 W 4% 4 10k V3 & .28 600 0 0 8754.92 o
3541 I BH At VB A Y 35kV | 10kViji 1l 264556 W i 4 10kViit L 25 400 0 0 6143.96 o
3542 IRBHAL Pty | R AR 110kV | 10kV 4281247 F 5% 10kV By jrT £ 480 0 0 7645.76 7%
3543 I £ E A It A5 B 3 110kV | 10kV BT £k 116681 % 10KV 1 i 2% 480 0 0 7967.78 %t
3544 39 B At L A O B RRAR H 110kV  [LOkV E G2k 13178 i 23 10kV 5 02k 550 0 0 8583.79 7
3545 35 Bt FL O B AR 35kV 10kV iy 28417371 % 10kV i 2% 480 0 0 7583.99 7
3546 Ik B 3 B e O B AT Bk 110kV | 10kVE K £621869 7 5% 10kVE K28 600 0 0 9401.48 %
3547 35 Bt HL O b 25 3 110kV  [1OkV fl Fii 2k 116 7047 4% 24 10KV Hf #i 2% 600 0 0 9044.78 7
3548 IS £ H g 75 B AR B 110kV | 10kVFFE£E14153F % 10kV A L2 550 0 0 8148.96 o3
3549 AL At [ WLE T AR B | 110k Ok 2811757 it 25 10kVLIT 28 480 0 0 7700.07 2
3550 I8 BH A3t g G137 A5 Lk 110kV  [LOkVEI RN FH £k 13644 5 10k VA [y H 26 550 0 0 8047.92 7%
3551 IRPAAt e Pty | T B AR H 110kV | 10kV L5 211556 5% 10kV I3 2§ 480 0 0 7087.08 7%
3552 IR BH At G SN R 110kV 10kVZ: 11128016 FF K 10kV 2 111 28 550 0 0 8454.79 o
3553 I8 BH A3t e 25 BH A5 B 3k 110kV  [LOkVE A Z,2814176 FF 10kVE D 2,28 600 0 0 8805.26 o
3554 Ik B 4 H e O 75 7R A% 110kV  PkVAY I 2.4 12663 125 4 10KV I 2.2 550 0 0 8611.47 o
3555 I B At L s PP AR L 110kV | 10kVRIL£:129777F K 10kV AL EL 480 0 0 7684.91 o
3556 35 B 4t FL O I [X A5 B 3 35kV | 10kV[X Bk 2k 7463 W it 2 10kV[X B2k 400 0 0 6400.33 %
3557 I B At L A O A5 H A5 H 110kV | 10kV7 /K 2621941 FF 5% 10kV7Ay 7K 2% 550 0 0 8227.89 o
3558 WAt ot | OB RS B 110kV  [LOkV L 7281286817 it 43 10kV 3L % 2% 450 0 0 6578.97 7
3559 I BH £ H g I X AR H 3 35kV | 10KV[X AN ZE 7453 W i 2% 10kV[X H12E 400 0 0 6068.95 o3
3560 IR BH At b il 25 B 110kV  [LOkV 26116627 % 74 10kV il 28 550 0 0 8152.12 s
3561 WA At e e | HLEE TR B vh|  110kv [LOKVHE J5 281177110 5 23 10kV Hi, /7 2% 550 0 0 8531.96 7
3562 I BE A E 75 A AR i 35kV | 10kViF T £k 736007 i 2% 10kV 5 77 2k 480 0 0 6996.52 7
3563 35 B 4t FL O BTk AR R 3 110kV  [LOKV 5 IR 2R 1315817 i 43 10kV H PR 2 480 0 0 7213.66 7




3564 IRPE LR ey | SCBH AR H 110kV )2k 12857 W R A% 10kV L) 2k 550 0 0 8084.95 o
3565 IS £ E g AR H 110kV | 10kVH 4212979 % 10kVH 428 600 0 0 9515.64 %
3566 Ik B 3 H e O B3 45 EE 3k 110kV 10kVAI A 28 600 0 0 8729.28 o
3567 Ik B 4 H e g T4 VEAR Bk 110kV 10kVIR 7 .25 600 0 0 8729.28 o
3568 I BH A E g FH A 25 E 3 110kV  [LOKV3iii % 28 13064 1 1 % 10kVFi 27 £ 550 0 0 9429.23 o3
3569 35 Bt EL O FEVE AR o 3 110kV  [LOKVFE 22 212564 i 23 10kVFE 22 2% 480 0 0 7283.86 %
3570 I B At L A O i 2 AD 35kV | 10KV X £k 4558 7 i 2% 10KVt 2k 400 0 0 6389.11 7
3571 IR BH At L rp Ik X A5 35kV | 10KV[X H5 2k 7464 W7 i 4% 10KV [X $i 2k 400 0 0 5914.09 o
3572 35 B 4t FL O B35 B 3 110kv  [lokVEIE 2.28136710F ]  10kvEIE 228 600 0 0 8866.77 %
3573 PR s | K2R B AR L 35kV  [1OkVZEFg £k31261 7 1% 24 10kVZE G £k 480 0 0 8167.78 %k
3574 58 BH A3t e g [ Vb YA AR B 110kV 10kV H % 28020 5% 10kV [ == 2§ 400 0 0 5935.91 7%
3575 35 B 4t FL A O A L 110kV | 10kVEEL221868TF X 10kVE kLR 600 0 0 9038.62 7
3576 IRPE AR ey | A 110kv | 10kv4 K£k26857F % 10kv4 K2k 480 0 0 7093.09 %
3577 I8 BH A3t e g AR L 35kV 10kV X K 254174 FF 5% 10kV X1 5% 2§ 480 0 0 8473.23 7%
3578 58 BH A3t e g G137 A5 Bk 110kV  [LokVAGI & FH £k 13646 5 10k VA & H 28 600 0 0 9550.4 7%
3579 35 Bt FL O JA] A5 B 35kV 10kv Tk £k 1056 FF 2% 10kV Tk 2% 550 0 0 8173.59 7
3580 Ik B 3 B e O B AR Bk 35kV | 10kViji B 24565 W i 4 10k Vi Fd 28 480 0 0 7738.51 %
3581 WA At | A 110kv | 10kv&:[EZk26727F K 10KV 45 el 2§ 480 0 0 7018.89 o3
3582 I B At L O I A A5 B 3 110kV  [LOKV K I £k 112641 % 23 10kVE IR 2R 480 0 0 7347.6 7
3583 IR BH At FEAR H 110kV  |kVAEH X 1112812581 Wi i 10kVFE E 2 600 0 0 8799.66 4
3584 35 Bt HL O FH A4 A5 B 35 110kV  [LOkVEi i1 £k 1307017 i 23 10kVH i 2% 600 0 0 9304.24 7
3585 35 Bt FL O FH A A5 B 110kV  [LOkVEi 412813053 K i 23 10kVH [4]£; 550 0 0 9086.55 7
3586 IR BH At G LA Y 35kV | 10KV IR 2R 4561 W i &% 10KVt P15 480 0 0 7149.28 o
3587 I8 BH A3t e A AT A L 110kV | 10kVAT 7L 2821962 FF 5% 10KV AT VD 26 550 0 0 8015.3 o
3588 I A E A 4T 19,75 B ik 35kV I £k4230/NETF R 10kV LT M 2% 400 0 0 5992.95 %t
3589 IRPA A ey HLE Tk E AR f | 110kV [LOKVIEL T 2811764 i 24 10KVt 7 25 480 0 0 7426.62 o3
3590 IR BH At MRS B Y 35kV  [LOkV¥ 7R 26317567 % 7 10KV v 7 28 480 0 0 7124.91 7%
3591 35 B 3t EL O FEVEAR o 3 110kV  [LOKVFERZE 12563 K7 it 23 10kVFE MR ZR 480 0 0 7009.07 o
3592 WAL | SIS Hy 110kV | 10kVfiii K 2813860 K 10kV i K 2% 550 0 0 8783.8 %
3593 I BH £ H g T 1 AR H vk 110kV 10KVAEIR 2,28 600 0 0 10197.98 o3
3594 I £ E g P YEAR H v 110kV 10kV 16 73 FH 28 600 0 0 8729.28 2
3595 IRPHAL Rty | A SRS H 110kV  [LOkVHi /1 H1 41384871 4 10KV /7 H 26 600 0 0 8881.68 7%
3596 I B 43t L A O 4T 59,75 B i 35kV | 10KV 2k 423307 i 2 10kVZL i 2% 400 0 0 5844.94 7
3597 I BH £ E g B3 A5 Ha vk 110kV | 10kVAIF=£6136517F % 10kV A F 2% 600 0 0 8760.41 o3




3598 IS £ H g B3 A5 H vk 110kV | 10kVAI[E £k 1364171 % 10kV A1) e 2 480 0 0 7274.76 o3
3599 395 B 0 PR AR L 110kV  [LOKV 5 T* £ 131607 i 25 10kVH T2k 550 0 0 8604.6 %
3600 WAL e | AR AR E 35kV | 10kVHE K2R 1456 W7 i Ay 10kVH K2k 400 0 0 5892.26 %
3601 35 B 3t B O 2 [ A% 3 110kV  [IOKVEEEH 281415477  10kVEEH £ 600 0 0 8946.6 %
3602 I B At H O T R AR H b 110kV | 10kV /K 2660660 7F % 10kV i 7K & 480 0 0 7264.06 7
3603 I B 4 H e O 1t i A5 H 110kV  [1OkV#% FH 28116797 % 23 10kV 3228 600 0 0 8942.42 %
3604 WP Ly | R SIS 110kV | 10kVE & 2611569 % 10kV £ 75 2% 550 0 0 8230.72 7
3605 B £ H g B3 A5 B 110kV | 10kVAI R £ 136707F % 10kV A 2% 550 0 0 8014.93 o3
3606 RPH A e | TR AR E 110kV | 10kVE 4k 1255JF K¢ 10kVLh ¥4k 550 0 0 9812.11 %
3607 Ik B 3 H e O £ 90 Y] A5 B 3 110kV 10k VAl 28034 F 5% 10kVAiliym] 28 480 0 0 7560.92 ok
3608 58 BH A3t e g w9 AR 110kV 10KVAHE R H 26 600 0 0 10197.98 7%
3609 I BH £ H g [ Vb JA] A B 110kV 10kV [ 2033 FF 5% 10KV [ 7] 2% 480 0 0 7042.53 7
3610 IR BH At w7 R AR E 3l 110kV  [LOkV 7 # 2 11868 K % 7 10kV i #1 28 550 0 0 8040.21 4
3611 I £ E A 1125 B 3 35kV | 10kV b 2E4452 Wi 10KV 2k 400 0 0 6222.34 %t
3612 WAL | T EIRAS 110kV | 10kVE % 2611566 FF % 10kVE A 2% 550 0 0 9204.93 7
3613 IS £ E A5 AU AR H v 110kV | 10KV 222621947 % 10kV A 22 & 600 0 0 8744.01 %
3614 58 BH A3t R e FH ) 25 B 110kV  [1OkVH FH £ 1307 1147 % 75 10kV HH FH 28 550 0 0 8641.59 %
3615 I BE £ E A FCVEAR B 110kV  OkVAFH VIZ: 13553 itk 4 10KVEI 26 550 0 0 8075.31 %
3616 I B At L O A5 AT AR H b 110kV | 10kVHA Ik 219617F % 10KV £ 28 550 0 0 9453.51 7
3617 IR BH At 75 7545 B Y 110kV  [LOKV 7 Hr 2612652 7 % 7 10kV 75 28 480 0 0 7035.46 7%
3618 WAL E At WL TV FE A B | 110kv 10kVit b £k 08T 5% 10kViE Ik 26 480 0 0 10356.05 %
3619 WAt G | R AR 110kv | 10kvE 28126071 5% 10kV I 2 550 0 0 8634.68 %
3620 IR BH At G 7 R AR E 3l 110kV  [LOkV 7 R £ 11864 7 % 74 10kV iy A 28 480 0 0 7233.51 o
3621 WPBHAE L | A IR 110kV | 10kVJiFd £k 13843 % 10KV R & 600 0 0 8898.77 2k
3622 I8 BH A3t g rf I AR B 3 110kV | 10kVH1iH £ 12960H 5% 10kVHH 2 480 0 0 7066.53 7%
3623 35 B At FL O A5 kAR B 3 110kV  [IOkVAT R £.4821965HF K  10kVAYFg 2.2k 600 0 0 8968.64 7
3624 35 B 4t FL O 75 A A5 L 110kV | 10kVHF 51261416171 % 10kV 5 48 550 0 0 8168.06 %
3625 Ik B 3 H e g 75 ZR A5 110kV  [LOKV 7y #F 261267 1 K7 % 24 10k V7 ifg 25 550 0 0 8116.96 ok
3626 I BE A E s 2 Vs A5 Ha 110kV  [LOKVFEH 28125667 5 43 10kVFE 128 500 0 0 7296.77 7
3627 IRPH AL B 0y [HLHE Tl e AR eEsi|  110kV [LOKVHLAIZR 11753 i 25 10kV HL Fl1 2% 600 0 0 9572.75 7
3628 35 B 4t FL O B30 25 B 3 110kV | 10kVAIE£k58167F K% 10kVAIHT 48 550 0 0 8432.33 %
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3630 Ik B 4 H e 0 P A EEL 3 110kV | 10kVHIT.4:12973H 5% 10kV AT 28 480 0 0 7300.76 o
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3632 IS £ H g TR B 110kV  [LOKVFE T2k 125801 it 43 10kVFE T 2k 480 0 0 7075.44 7
3633 35k BH 4 HE b g AR H 35kV 10kVH1 5 284175 FF K 10kV 5 28 480 0 0 7255.63 %
3634 35 B At FL O 75 A5 H 110kV | 10kVFHAEL141687F K 10kVEFELL 600 0 0 8812.39 7
3635 I 3E £ E A FF L AS H i 35kV | 10kV 1k 2k 4463 Wi 4 10KV L 26 400 0 0 6140.5 %
3636 IR BH At B3 25 B 110kV | 10kVAIMk 213669 % 10kVAIII 2K 550 0 0 8038.94 o
3637 I A E A A B 35kV W2 418171 % 10kV 7 FH 2% 550 0 0 8743.1 2
3638 Ik B 3 H e O P A B 3 110kV | 10kVX\FHZ:12961H 5% 10kV A FH 28 550 0 0 8447.78 o
3639 NPt s | SCBH R A HL 110kV  [LOKV YT 2812853 b7 it 43 10kV 3T 28 550 0 0 8658.82 o3
3640 IR BH At 255025 Ly 110kV | 10KV 3L £6219427F % 10kVAy L 28 550 0 0 8430.34 4
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3643 35 B 4t FL A O It 25 E 3 110kV  [LOkVHH 281167378 &5 10kV i~ 2& 480 0 0 7923.11 7
3644 NP AL s | ol A 35kV | 10kVXU )T £k3257 Wi it 2 10kV LT & 550 0 0 8315.18 %
3645 I £ E A 5 BHAS B 3 110kV | 10kVHFE 214177 % 10kVFH F 2% 600 0 0 8735.65 %t
3646 I B 3 H e O FH ) 25 B 110kV  [1OkV3ii FH 2813062 7 % #3 10k V3 H 2§ 550 0 0 9676.78 o
3647 35 Bt FL O B30 25 B 3 110kvV  [lOkVAIEE H 2813653 F 9 10kVEIEHI 28 600 0 0 8849.31 7
3648 Ik B 3 B e O rp 3 AR H 110kV | 10kVH] 2812975 5% 10kV Hh ] 28 550 0 0 8967.38 %
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3652 I B 3 H e O Vi) A2 A5 B 35kV 10KVl ] 28224 F 5% 10KV it 7] 28 480 0 0 7215.85 o
3653 Ik B 4 H e O B 3745 EE 110kV | 10kVEI 512813668 K 10kV B 51 28 600 0 0 9703.36 o
3654 35 B 4t FL O BT ER AR R 3 110kV  |okVELIE T 2813181 10kvEL I T 2% 550 0 0 9166.54 7
3655 I A E 19 A5 B ik 110kV 10kVHE R 4.2 600 0 0 8773.84 4
3656 I A E A rp 3 AR B 3 110kV | 10kVH [ 28129807 % 10kVH 2% 480 0 0 7366.97 %t
3657 I BH £ H B3R AR H 110kV | 10kVH it 26 131697F % 10KV H. 7 2k 550 0 0 8602.89 o3
3658 IRPHAL Py | R IR AR Ha 110kV | 10kVEAF£11559FF 5% 10kV A 28 550 0 0 8600.72 7%
3659 58 BH A3t e g 52 A B 3k 110kV 10k Vit 7t H 28 600 0 0 9510.37 o
3660 Ik B 3 H e g JCVEAR Bk 110kV  [LOKVEMF 2813542 K7 % 43 10KV M 28 600 0 0 9692.59 o
3661 IR BH At T 1L A H 3 35kV | 10KVFF41 284453 W7 i 2% 10kV 41 28 400 0 0 5969.55 o
3662 I £ E g 725 S AR B 3 110kV  [1OkV /5 7K 28132521k % 23 10kV 15 7K 2% 600 0 0 8754.92 2
3663 I8 BH A3t g rf I AR B 110kV | 10kVH i 12962 5% 10kVH i £k 480 0 0 7726.82 7%
3664 I BE A E A L 110kV  [LOkV 5 %28 131621K7 5 23 10kV 5% 2% 550 0 0 8008.21 7
3665 RPH A e | TR AR B 110kv | 10kVE I Z12497F 5K 10kV L% 2k 550 0 0 8145.87 43




3666 IS £ H g B3R AR H v 110kV  [LOkV ELA1£E 1315917 % 74 10kV HHLEL 550 0 0 8816.73 o3
3667 IS £ E g B3 A5 H v 110kV  [LOkVAI % 2.2k 136607 10KV % 2.2 600 0 0 8772.93 2
3668 WAt e WL Tk AR B vh|  110kv [LOKVHL 2811763 % 43 10kV HL 2% 600 0 0 8751.65 7
3669 35 Bt HL O G137 35 L 3 110kV | 10kVAI X 28136641 K 10kV A K2k 550 0 0 8014.93 7
3670 35 B 4t EL O 19745 H 110kV 10KV AF 7 FH 2 600 0 0 8755.47 7
3671 I B 4 H e O A H 3 110kV  [1OkV 1 4> 28118667 % 23 10kV i 428 480 0 0 7854.89 %
3672 IR BH At B L S A H 110kV 10KV TG £, 2k 600 0 0 9355.42 ok
3673 35 B 4t FL O A A B 3 110kV  [LOKVAEIH 2811254 % 23 10kVAE IR 28 480 0 0 7695.03 7
3674 IR BH At Fp I A H 3 110kV  [LOKVHH 2816052 B 2 2 10kV 4R 28 550 0 0 8247.27 7%
3675 IRPHAE Rty | K SEIR AR 110kV  [LOkV 4R FH £ 11555 5 10kV T 4 H 28 600 0 0 9099.37 o
3676 3B 3t HL O A B 35kV 10kV & 5441857 K 10kVE = £; 550 0 0 8186.03 7
3677 I BH At Ik [X A8 Ha 3 35kV | 10KV 3 2R 7454 W7 i 2% 10KV PG 3§ 28 400 0 0 5870.44 o




